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Section type: Online

Mandatory or Optional: Mandatory

Number of Questions: 20

Number of Questionsto be attempted: 20

Section Marks: 20
Sub-Section Number: 1
Sub-Section 1d: 5459271801
Question Shuffling Allowed : Yes

Question Number : 1 Question Id : 54592730301 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

From the given responses, find the missing letter in the series:

GJ, KH,IL,MJ,?
Options:

1. » KL
2.« LM
3. = MN
4. v KN

Question Number : 1 Question Id : 54592730301 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

fev v fashedl # & Aol & ofca 3187 &1 AT e

Gd, KH,IL,MJ,?

Options:

1. = KL
2. = LM
3. = MN
4. v KN

Question Number : 2 Question Id : 54592730302 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Find out the next term:

GH10, MN15, RS20,

Options:

1. = G1F
2. % YZ1
3. v WX25
4. = EF7

Question Number : 2 Question Id : 54592730302 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

3Tl Ug ATd

GH10, MN15, RS20,

Options:

1. » G1F
2. ® YZT
3. v WX25
4. = EF7

Question Number : 3 Question Id : 54592730303 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Find the wrong term in the series:

LJH, IGE, FCB, CAY
Options:

1. = IGE
2.« CAY
3.« LJH



4. v FCB

Question Number : 3 Question Id : 54592730303 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

*‘fix’.sloil H ITeld 9 T

LJH, IGE, FCB, CAY

Options:
1. = IGE
2. = CAY

3. = LJH
4., v FCB

Question Number : 4 Question Id : 54592730304 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Find the odd one out from the given alternatives.

Options:

1. = Iron
2. = Silver
3. = ZInc
4. v Brass

Question Number : 4 Question Id : 54592730304 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

feu av fAredl & O R{AYH AT HL

Options:

1. = gl
2. « TIET
3. # STET
4. v Uidel




Question Number : 5 Question Id : 54592730305 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Choose the odd one from the given alternatives.

Options:

1. « IHF
2. » FEC
3. v VUT
4. = RQO

Question Number : 5 Question Id : 54592730305 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

fev a7 fahedt & f@ee T o |

Options:
1. = [HF
2. = FEC

3. v VUT
4. = RQQO

Question Number : 6 Question Id : 54592730306 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Choose the odd one from the given alternatives.

Options:

1. = CD : XW
2.v LM : PQ
3.« EF: VU
4. = HI : SR

Question Number : 6 Question Id : 54592730306 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

fev av fashedt & & favA &1 v

Options:




1. = CD : XW

2. v LM : PQ
3. = EF : VU
4. = HI| : SR

Question Number : 7 Question Id : 54592730307 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

In the following question, select the related letter / word /
number from the given alternatives.

Brain : human :: : computer

Options:

1. » RAM
2. v CPU
3. » Keyboard
4. = Hard disk

Question Number : 7 Question Id : 54592730307 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

fArTa@&g ueaT & Ru 9w [Aereul & O graleug 3787 /felsg /
T&IT i gﬁvl

ARETSH : Al D FYH
Options:

1. = RAM

2. v CPU

3. = hEg
4. = g5 =F



Question Number : 8 Question Id : 54592730308 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

In the following question, select the related letter / word /
number from the given alternatives.

TIME : CLOCK ::

Options:

1. = Hailr spring : wrist watch

2. v Date : calendar
3. = Sincerity : disloyal
4. = Paper : pen

Question Number : 8 Question Id : 54592730308 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

fAFafel@d e 7 U 710 Aeredl & O graTeud
3TETY/eTsS/TEIT <R gﬂﬁul

THY : g8l &
Options:

1. % §Tel A hells BT
2. v [eaTeh: FolsT

3. » SHATGIGHT: Taearaerdr
4, = QUT: Feld

Question Number : 9 Question Id : 54592730309 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

In the following question, select the related
letter/word/number from the given alternatives.

GROW : COMV : : SHOW :

Options:



1. « ROMV
2. v OEMV
3. = OMEV
4.« PFVM

Question Number : 9 Question Id : 54592730309 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

@ T veaT & B0 a7 [hedl & 8 grleud
ITETT/eTsS/TTIT <h gfﬁul

GROW : COMV : : SHOW :

Options:

1. » ROMV
2. v OEMV
3. = OMEV
4. = PFVM

Question Number : 10 Question Id : 54592730310 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

If HEAD is coded as 1438 and BRING is coded as 76952, what
do the figures 6438952 stands for?

Options:

1. v READING
2. » DIEING
3. * HIGHER
4. » HEATING

Question Number : 10 Question Id : 54592730310 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Tfg HEAD #r 1438 Ffee foram Srar & 31 BRING &I 76952
e fohar ST &, a 6438952 & Ffed +ar g7

Options:

1. v READING
2. = DIEING

3. * HIGHER
4. = HEATING

Question Number : 11 Question Id : 54592730311 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

If ‘ball’ is “tennis’, tennis’ is ‘chess’, ‘chess’ is ‘hockey’, ‘hockey’
Is ‘ludo’ and ‘lude’ is ‘basketball’, what is cricket played with?

Options:

1. v Tennis
2. » Ludo
3. » Hockey
4. » Ball

Question Number : 11 Question Id : 54592730311 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

gie ‘Fiol, &l AT FaT AT &, AT, FT erais FaT AT
g, ‘ULl DI Blehl’ @l ST &, Blehl', I o3I FHagl T &
AT 'SET FI 'TEhclel FET ST &, Fhehe R AT Felm
ST 87

Options:

1. v &g
2. % o[3r

[

3. = BIehT




4. = Siel

Question Number : 12 Question Id : 54592730312 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0.25

In the following question, a group of letters is given which are
numbered 1, 2, 3, 4, 5 and 6. Below are given four alternatives
containing combinations of these numbers. Select that
combination of numbers so that letters arranged accordingly,
form a meaningful word.

LRPEAY
123456

Options:

1. v 315642
2. % 425613
3. = 315624
4. % 314625

Question Number : 12 Question Id : 54592730312 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

farafaf@a aear &, 3187 &1 v @HE fear am=m &, |@&ar 1, 2,
3, 4, 5 3T 6 A ©W 10 &, ST &I F JIIolel dlel IR
Berew ev a7 | g&asit & 39 ISl T I HL dTieh
& F AN TIARYT &, U ATF M58 TV |

LRPEAY
123456

Options:

1. v 315642



2. » 425613
3. = 315624
4. = 314625

Question Number : 13 Question Id : 54592730313 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

In a psychology test of 6 students- P, Q, R, A, B, and C, the
teacher found following information regarding the
intelligence level of students.

P is more intelligent than A.
R is less intelligent than C.

P is more intelligent than Y.
(Q 1s as much intelligent as B.

If B and C are not the most intelligent student, than who will
be the most intelligent student?

Options:

1.+P
2. % Q)
3.= R
4, % A

Question Number : 13 Question Id : 54592730313 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



8 @F- P, Q R, A, B 3R C & #A=agaTer wdigror A&, et &
BT & FEHAT TH & T H STARRT 9o F|

P, A & 39+ igATT &I

o

R, C & ®# gi&A gl
P, Y & 39« sfgAre &I

0

Q, B TSIde gigAT ¢l

3R B 3R C qed 3179k JigA ST @8l g, o qad

gf%a-ud ST hlal BIIT?

Options:

1. v P
2. = Q
3. = R
4. = A

Question Number : 14 Question Id : 54592730314 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Five students Karan, Charan, Lavan, Pavan, and Sravan, are
top five rankers of a class. No two students got same rank.
The number of students who got better rank than Pavan is
same as those who got a worse rank than Lavan. Only one
student got a worse rank than Karan. who among the
following is the first ranker?

Options:

1. = Pavan
2. v Lavan



3. = Sravan
4. = Karan

Question Number : 14 Question Id : 54592730314 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

U ST 0T, TIIUT, ofde], Udd, 3T S1GUT, Ush H&T & <y
o YT &1 RET o S orEr r gATT R AT Rl urae Fr
Jolell H SgaT {F lel dTel BTET T HEAT ofdel & 1 sacl I
OTe GTell o SIS &1 shdol Tk BT Al HI0T & #T Feae &
el ToleaTeli&d & & whiel § TgaT Yo7

Options:

1. = Udel

2. v oldd
3. % AUl
4. % HIOT

Question Number : 15 Question Id : 54592730315 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

There are five books kept one over the other. Two books are
of English language, two books are of Management, and one
book 1s of Statistic. One book of Management is in the top
shelf and other one is in the last shelf. Book of Statistic is kept
just above English language book. One book of English is kept
just above Management book. English books are kept adjacent
to each other.

Which book is kept in second shelf?

Options:

1. = English language
2. * Management



3. v Statistic
4. = Either English language or Statistic

Question Number : 15 Question Id : 54592730315 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

A GEdh Ueh s FW Uk TET &1 &7 Jecdeh ISl T T g,
ol qEdeh HasAe T § 30 Ush GEch HITETRT T &1 Tererel
T T e Ugel et A & AT @il A dew A §
HITEThT T TEcTeh 3OS HTNT T TEclsh & Sk FUT AT &
TSI YT hT Ueh Jocieh el TEceh & Sk FuT T 975 |
AT ST T el TEdh Toishead TET =T &

ST Aot A TR T I TFT AT &7

Options:
1. % 37T HTST
2. = Yeal

3. v GITEThT
4. = T AT ISAT AT AT FITEThT

Question Number : 16 Question Id : 54592730316 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



A, B, C, D and E play Hockey. 3 players from Hockey were
selected to form Team 1.

I. A is always selected.

II. Exactly one among B and C is always selected
III. D will not participate if B is selected.

IV. E will not play with C

Which among the given option is a possibility of team to be
selected?

Options:

1. « ADE
2. » BEC
3. v ABE
4. = ADB

Question Number : 16 Question Id : 54592730316 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

A, B, C, D 3iIKx E glhr Telch &1 &lenl o 3 TTeIaar ol i
?ﬁi’ltft_ljm =T AT

. A gRer aufed &T &
Il. B 3 C & & U I gAAT IAT ST &

IIl. D, B T3l &l 9T HATET Aol oldl|
V. E, C & &I gl Teldm|

feu v faered & @ form I & A ST R FHIGT §7

Options:



1. = ADE
2. = BEC
3. v ABE
4. = ADB

Question Number : 17 Question Id : 54592730317 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Ani is the daughter of Mani. Mani’s mother is Amaya. Emi is
Amaya’s mother. Emi’s husband is Herry. Krishna is the
mother in law of Herry. How is Ani related to Herry?

Options:

1. = Daughter

2. v Great Grand Daughter

3. » Grand Niece

4. = Great Grandson’s Daughter

Question Number : 17 Question Id : 54592730317 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0.25

37T, HeAl T GE 81 AT kT AT AT F1 TAT, AT HT AT
AT &1 ufa &7 &1 Feom, & Fr ' g ven, & @ e

1. = &

2. v 9I9rar

3. % §TS T 9T
4. = AN HT TAT

Question Number : 18 Question Id : 54592730318 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



In the question below, there are three statements followed by
two conclusions. You have to take the given statements to be
true even if they seem to be at variance with commonly
known facts and then decide which of the given conclusion
logically follow(s) from the given statements.

statements:

I. All fans are bulbs.

II. Some bulbs are walls.
I11. All walls are roofs.

Conclusions:
I. Some walls are bulbs.
II. Some roofs are fans.

Options:

1. v Only conclusion I follows

2. * Only conclusion II follows

3. = Either conclusion I or II follows

4. = Neither conclusion I nor II follows

Question Number : 18 Question Id : 54592730318 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



A few are wed A AT FUA R 3T g o TRy G v
&1 39! 8T 9T Jlal H20ell hl e HAlelell & Hol &7 T
TTATT T2t & Feet g gl a7 Ty et #r afer
I FIeT fF T a7 oSSt # @ Fid G dhded 37 8
3TeTEOT LT &, ﬂﬁﬂﬂﬁ?—r?—rﬂr;maﬁﬁl

e

. T 9=, e &
I. $& geq, AaX gl
Il. |7 Sar, Bd &

GRS F

. FS dan, Jod &
I $ od, T &
Options:

1. v &ael fasehy | 3TeELor I ¢

2. % hael ToTSehy || 3TETOT FIcAl Y

3. « T faseh | AT || 3TEIOT FIAT
4. » o foshy | o | 3HTTTOT FTcl =y

Question Number : 19 Question Id : 54592730319 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



In the question below is a statement followed by two
conclusions numbered I and II. You have to assume
everything in the statement to be true, then consider the two
conclusions together and decide which of them logically
follows beyond a reasonable doubt from the information
given in the statement.

Statement:
I. All employees who do not work properly bring a bad name
for themselves and also are a liability to an organization.

Conclusions:
I. Such employees should be fired from the organisation.
II. Strict action is required in such cases.

Options:

1. = Only conclusion I follows

2. v Only conclusion II follows

3. = Neither conclusion I nor conclusion II follows
4. = Both conclusion I and conclusion II follow

Question Number : 19 Question Id : 54592730319 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



foeeT uesT & Tk Fud T 3T+ ag | 3 1l F 3T ar
fsehy U a1 &1 TR U =T AT hl HRT ATARRT I
o ATeleT & 3T fow = sl o vehary oo
o ol & Tof S 918 STelehiT & 3MUR W 3aH § hiadr

dTfeheR ¥ & 37eTEIOT FIAT g

hTeT:
. U TS H ST RAURT Sk § FIH <8l A g, T T& kI
STH TS i & 3T e & oiw el =T fr aig 8la &1

IGLEAF
. U8 FHATTRAT H TIod 8 fawrer fgar smear anfgel
II. ¥F ATHAT H T&J FRATs ahl HTTIRAT aidT &

Options:

1. % haoel foIseh¥ | 3Te[ELOT HIAT §

2. v el TSy || 7eTEIOT FIAT &

3. % @ o forssh¥ | & & forsshd || 37efERoT T B
4. = Torshy | 3T || gl 3TeEor FId &

Question Number : 20 Question Id : 54592730320 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Complete the following series:

10, 20, 60, 300, ?

Options:

1. v 2100
2. % 2120



3. = 3500
4. % 1200

Question Number : 20 Question Id : 54592730320 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

feresTlel =T el 1 T L

10, 20, 60, 300, ?

Options:

1. v 2100
2. = 2120
3. = 3500
4. = 1200

Mental Ability2

Group Number : 2
Group Id: 5459271502
Group Maximum Duration : 0
Group Minimum Duration : 0
Show Attended Group? : No
Edit Attended Group? : No
Break time: 0
Group Marks: 20
IsthisGroup for Examiner?: No
Revisit allowed for group Instructions? : Yes
Maximum Instruction Time: 0
Minimum Instruction Time: 0

Mental Ability?2

Section Id : 5459271502
Section Number : 1

Section type: Online
Mandatory or Optional: Mandatory
Number of Questions; 20

Number of Questionsto be attempted: 20

Section Marks: 20



Sub-Section Number: 1
Sub-Section I1d: 5459271802
Question Shuffling Allowed : Yes

Question Number : 21 Question Id : 54592730321 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Find the wrong term in the given series:

31, 63, 127, 250, 511

Options:

1.« 250
2. % 127
3. % 63
4. % 31

Question Number : 21 Question Id : 54592730321 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

& 9% AT H Teld TG AT Hl:

31, 63, 127, 250, 511

Options:

1. v 250
2. = 127
3. = 63
4. = 31

Question Number : 22 Question Id : 54592730322 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Choose the odd one from the given options:

Note: For this question, discrepancy isfound in question/answer. So,this question isignored for all
candidates.
Options:



1. 861
2. 1089
3. 284
4. 576

Question Number : 22 Question Id : 54592730322 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

2w a0 Beredl # O Hed d&aT ) gﬁl

Note: For this question, discrepancy isfound in question/answer. So,this question isignored for all
candidates.
Options:

1. 861
2. 1089
3. 284
4. 576

Question Number : 23 Question Id : 54592730323 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Choose the odd number pair from the given options:

Note: For this question, discrepancy isfound in question/answer. So,this question isignored for al
candidates.

Options:

1.624:534
2.342 1 252
3.442 . 362

4.241:151

Question Number : 23 Question Id : 54592730323 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

2w av Jreul & O fHea {-i{se.uslfr?:lﬁl

Note: For this question, discrepancy isfound in question/answer. So,this question isignored for al
candidates.
Options:




1. 624 : 534
2. 342 : 2562
3. 442 : 362
4. 241 : 151

Question Number : 24 Question Id : 54592730324 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Choose the odd number pair from the given options:

Options:

1. %16 :47:49
2.%4:23:9

3.« 25:56:36
4.+10:38:66

Question Number : 24 Question Id : 54592730324 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

2w a0 Beredl # O Hed d&aT ) gﬁl

Options:
1. = 16 : 47 : 49
2. 4:23:9

3. % 25 : 656 : 36
4. v 10 : 38 : 66

Question Number : 25 Question Id : 54592730325 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

In the following question, select the related letter / word /
number from the given alternatives.

420, 425, 440

Options:



1. = 455
2. v 465
3. = 470
4. = 475

Question Number : 25 Question Id : 54592730325 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

fFTel&T e & U 10 TFhedl & & Fealead 387 / o5
| TEAT ® AT

420, 425, 440

Options:

1. = 455
2. v 465
3. = 470
4. = 475

Question Number : 26 Question Id : 54592730326 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Insert the missing number:

a@“i@”@a
Options:

1. = 94

2. % 80

3. % 82

4. v 80

Question Number : 26 Question Id : 54592730326 Question Type: MCQ Option Shuffling: Yes



Correct Marks: 1 Wrong Marks: 0.25

oICd T&AT ATd

2 3 &
(oFo¥o}
4 5 a

Options:

1. = 94
2. = 86
3. = 82
4. v 80

Question Number : 27 Question Id : 54592730327 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Glven interchanges: signs + and x, and numbers 7 and 21;
then the value of 7 x 21 + 2 1s:

Options:

1.+ 6
2.% 8
3. % 12
4, % 16

Question Number : 27 Question Id : 54592730327 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

foT a0 ggara: Tahd + 3T x, 3 g&ar 7 37 21; T 7 X
21 + 2 T AT &

Options:

1. v B
2. = 8
3. % 12




4. = 16

Question Number : 28 Question Id : 54592730328 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

In the question given below, there is a statement followed by
two conclusions. You have to take the given statement to be
true even if they seem to be at variance with commonly
known facts and then decide which of the given conclusion
logically follow(s) from the given statements.

Statements:

P=U<M<=K=I=N

Conclusions:

LN=K
ILi=Pp

Options:

1. = If only conclusion I is true

2. » If neither conclusion I nor II is true
3. v If only conclusion II is true

4. = If either conclusion I or II is true

Question Number : 28 Question Id : 54592730328 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

SR fow aTv UesT H, Uk FUT & g o sy | 3wy fou
AT FUd hr eI AT &, Hol & T HH TiX W AT a1 +
iy TR d g 3R TR aa & o v v ;e 7 &
et & feivhy dlfcheh T & ITe[EOT KT &

U
P=U<M<K<I>N
e

I. N2
IIL.I>P

Options:

1. = Iig g fashy | OcT &




2.« iz T ar sy | 3T 7 & 1l I &
3. v I Sga @shy || T &I
4. = IfE T ar fashy | a7 || 9cT &

Question Number : 29 Question Id : 54592730329 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Choose the odd one from the given options:

Options:

1. = 76
2.v 064
3. % 38
4. % 96

Question Number : 29 Question Id : 54592730329 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0.25

2w av Jreul & O fHea {-i{se.uslfr?:lﬁl

Options:

1. = /6
2. v 64
3. = 38
4. = 96

Question Number : 30 Question Id : 54592730330 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which of the following diagrams best represents a
relationship among Tank, Lake and Sea?

Options:
O A

1. « L&&{_JJ L



.00

Question Number : 30 Question Id : 54592730330 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

farafei@d & @ Flear @1 R &F, s 3R aqg & &7 doy
FT gfafaTaca Fiar §?

Options:

N A
1. v N

2_%@]
.. @

,.Q0




Question Number : 31 Question Id : 54592730331 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

In the given figure, the rectangle represents Arts, and
Hexagon represents Commerce and triangle represents
Science circle represents other group. Which number
represents the group of person of Science and arts but not
commerce or any other group?

Options:

1. =7
2. %4
3.v0
4, % 8

Question Number : 31 Question Id : 54592730331 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



&r AT 3P H, A Fem &1 ufafaideg Har &, 3N
NChIUT Q0T T ATdiaTded hidl & A FRIoT &TATeT
wfafafed sar § 3 ga 3707 §Ag &1 dfafded HLar gl
il HT HE&IT AT 3R Fell & Fierd & FHG T Ui ded
FLAT & dAfehel AT AT fREAT 30T THG FT 7617?

Options:

1. = 7
2. = 4
3. v 6
4. = 8

Question Number : 32 Question Id : 54592730332 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Two figures forming the problem figure and four other
answer figures are given. Select a answer figure which
possess the same characteristic as Question figure.

Question figures

% | o0
Options:
%,

1. ¢
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Question Number : 32 Question Id : 54592730332 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

ar T weef-3mpfd A AT IR Icat-3mpia # fav v &1 39
3cc 3TTHId T AT R TS GH AT [TANAT 8T Toa-31TehicT
ST

TA-HTHIA

% | o

Options:




.o 8

Question Number : 33 Question Id : 54592730333 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

The second figure in the first unit of the problem figures
bears a certain relationship to the first figure. You have to
select that figure from the set of answer figures which would
come in the place of question mark (?)

Problem Figures
A OO U . A O

Ll =] = L o O
1 2 3 4

Options:

0
1'$gv|:|

Qo
4 = |a©

Question Number : 33 Question Id : 54592730333 Question Type: MCQ Option Shuffling: Yes



Correct Marks: 1 Wrong Marks: 0.25

UesT 3T & Ugel AC T LT 3T, 9gell 3hid & Tk
ffeaa Freey AT § I13T0! 3ca¥ 3THia & e 8§ 39
HTRTT ShT el STaTT BT ST Uoel Eel (?) & TUTel 9T 3779e|

e T
A O O - 5 A O
ool v " o O
1 2 3 4
Options:
0

1. » o

=)

Question Number : 34 Question Id : 54592730334 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Choose an appropriate figure from the four numbered figures
for the place of the questions mark (?).

Q@@ °

Options:




e

b
a

[B)

4, v

Question Number : 34 Question Id : 54592730334 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

weel et (?) & T W 3ca AP & T H U 3
3THfT Tal|

T AHI
0|®)|@)
Options:

L. 9

2 1O




Question Number : 35 Question Id : 54592730335 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

In the following questions, element (i1) is related to element
(1) In a particular way in four pairs of figures. Find out the
pair of figures in which the element (i1) is not related to
element (1).

Options:
J <&

1' ® I |

gic

2.% id

4' o i ii

Question Number : 35 Question Id : 54592730335 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



forestfelTaa weall #, 3T & IR #A6ET & g (i) JcT () &
Ueh 9T 9hR & HMAT &1 3o 3Thid SIS T 9T oM
e/ aca (i), dca (i) § garaa 8T gl

B
, 9 ©
AL

Question Number : 36 Question Id : 54592730336 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Choose the correct water image from the given alternatives.

Options:
1. = CAL

2' # GVT



3' ® LYVD

4 oGV

Question Number : 36 Question Id : 54592730336 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

feT a0 fosredl # @ 3Mpfd 1 G TMell T ST 3Mpid AT
EAIE I

CAT
Options:
1. = CAL
2_ g GCVT
3_ % JLVO
4 . CvY.L

Question Number : 37 Question Id : 54592730337 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



In the following question a piece of paper is folded in the
manner shown in the question figure(s). Select the figure out
of the answer choices showing the unfolded pattern after the
punches (cut).

v

Question Figures

Options:

1' % 4:o 4

3.v

Question Number : 37 Question Id : 54592730337 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0.25

fFaafelf&d IeaT # Ush FETT & gohg kI URa 3THfd H geiw
AT Ik & AIST IR—T &1 e & &S UTod Yol hl 2T arol
3ccl fdshedl # & 3THid T ThaT HL

¥

A e




Options:

1. =
2 % b
3. v
4, = L

Question Number : 38 Question Id : 54592730338 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Find out which of the figure (a), (b), (c), (d) can be formed
from the pieces given in fig. (X).

Question
Figure

N
Options:

1« AN




3.{«?&

P

Question Number : 38 Question Id : 54592730338 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0.25

(@), (b), (c), (d) H & WleT T 3MFIA,3MFIA (X) & Fardr
HehdT &7

W FTpiT
Q

Options:

> B B P

Question Number : 39 Question Id : 54592730339 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



In the following question an unfolded dice is given. From the
given alternatives which of the following will be opposite of
A?

= [o[-|m[>]

Options:

1.v1
2.% E
3.0
4. %1

Question Number : 39 Question Id : 54592730339 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

forafaf@d wesr & v e ram feam = 1 4w v fashed
H O g ar A & T geme

2.
3. = O
4.

Question Number : 40 Question Id : 54592730340 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Count the number of cubes in the given figure:

Options:

1. % 8
2. %9
3. % 12
4. v 15

Question Number : 40 Question Id : 54592730340 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

foT a7 Mrhs H 9T T TEIT AT FIAT

Options:

1. = 8
2. = 9
3. % 12
4. v 15

General Awarenessl

Group Number : 3

Group Id: 5459271503
Group Maximum Duration : 0
Group Minimum Duration : 0

Show Attended Group? : No



Edit Attended Group? : No

Break time: 0
Group Marks: 20
Isthis Group for Examiner?: No
Revisit allowed for group Instructions? : Yes
Maximum Instruction Time: 0
Minimum Instruction Time: 0

General Awareness1

Section Id : 5459271503

Section Number : 1

Section type: Online

Mandatory or Optional: Mandatory

Number of Questions: 20

Number of Questionsto be attempted: 20

Section Marks: 20
Sub-Section Number: 1
Sub-Section 1d: 5459271803
Question Shuffling Allowed : Yes

Question Number : 41 Question Id : 54592730341 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Bhand Pather is a traditional

Options:

1. = Music

in the region of Kashmir.

2. » Sports
3. = Painting
4. v Dance-drama

Question Number : 41 Question Id : 54592730341 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

TS T FeAN & &F FT Th IINH gl

Options:

1. % g
2. % Tl
3. = ™TFall




4. v Fcg-lch

Question Number : 42 Question Id : 54592730342 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0.25

Burrakatha is a highly dramatic form of ballad of :

Options:

1. * Madhya Pradesh
2. » Uttar Pradesh

3. v Andhra Pradesh
4. = Tamil Nadu

Question Number : 42 Question Id : 54592730342 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

gﬂ?m Fr 3T Fife Fr aes de T

Options:

1. = HET ydel
2. * 3cad waer
3. v 3T weer

4, = dmola'llg

Question Number : 43 Question Id : 54592730343 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

The Phyang Tsedup is a festival in the Phyang Monastery of

Options:

1. = Gangtok

2. v Ladakh

3. » Alzwal

4. » Mawsynram

Question Number : 43 Question Id : 54592730343 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



F I AS A T FIET OSHT TF AER T

Options:

1. % IETCTHR
2. v ol

3. % HTSorarel
4. » HETHIH

Question Number : 44 Question Id : 54592730344 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Where is the Golconda Fort situated?

Options:

1. = Bengaluru
2. = Nainital

3. v Hyderabad
4. = Nashik

Question Number : 44 Question Id : 54592730344 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

MerehiaT TohelT el g &7
Options:

1. % SaTel®
2. % adldrel
3. v &SI
4. = TR

Question Number : 45 Question Id : 54592730345 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

In which of the following Union Budgets was the PM-KISAN
or Pradhan Mantri Kisan Samman Nidhi launched?

Note: For this question, discrepancy isfound in question/answer. So,this question isignored for al
candidates.




Options:

1. Union Budget 2017
2. Union Budget 2018
3. Interim Budget 2019
4. Union Budget 2019

Question Number : 45 Question Id : 54592730345 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

frfo@aT & O 8 4T goic & WvA-TRAT IT T4T #I3T
ToraTe TFATT AT FT WA RaT 13T a1?

Note: For this question, discrepancy isfound in question/answer. So,this question isignored for al
candidates.
Options:

1. $arg sl 2017
2. helg selc 2018
3. 3ARH seie 2019
4. Ferg Foie 2019

Question Number : 46 Question Id : 54592730346 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

What is the thinking behind adapting the “sky blue” coloured
theme in the Economic Survey 2018-19?

Options:

1. v New ideas for policymaking

2. » Managing the financial adversities

3. » Warding off the global risks

4. = Preparing to meet the needs of the young demography

Question Number : 46 Question Id : 54592730346 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



TTEeR TATET 2018-19 & 'slet I9Tal LT AT T 39aATer
e a7 9T 87

Options:

1. v AIfT faRor & forw a7 [@ER
2. » Tacdig UEr3it T vereel

3. » dTeger SNTEHAT I FH Flal

4. = AT FAANEThT T STHAT FT T Fat F folw AR g

Question Number : 47 Question Id : 54592730347 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which of the following is an economic condition in which
there is a simultaneous inflation with high unemployment
and stagnant demand?

Options:

1. = Hyperinflation

2. « Recession
3. v Stagflation
4. = Deflation

Question Number : 47 Question Id : 54592730347 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

e # & Sl O T 9T Tufa § F9d 39 SUeemr
3R U ART & AT TAETOF Heehitd g7

Options:

1. = 3T Thifa

2. % FS
3.J§m®%aﬁ?rﬁ€r
4, = FIEHICT

Question Number : 48 Question Id : 54592730348 Question Type: MCQ Option Shuffling: Yes



Correct Marks: 1 Wrong Marks: 0.25

vV =1+ at, given is the equation of motion. Which of the
following pairs given are not correctly matched in reference
to the above equation.

Options:

1. = a = acceleration

2. % 1 =time

3. v v = distance travelled
4. = U = initial velocity

Question Number : 48 Question Id : 54592730348 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

v = U + at, T&IT IRAT AITT T GHT & ToedToi@ad & &
il T SAST 3T TATRLUT & T H Gal Aol o8l &

Options:
1. = a = &0l

2. = t = A

3. v v = g &7 =T g
4., » u = YRTAF I

Question Number : 49 Question Id : 54592730349 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Turmeric stain on shirt turns to red when it is washed with
soap. This is because:

Options:

1. = Soap solution is acidic
2. v Soap solution is basic

3. = Soap solution is neutral
4. = Turmeric is acidic

Question Number : 49 Question Id : 54592730349 Question Type: MCQ Option Shuffling: Yes



Correct Marks: 1 Wrong Marks: 0.25

I TX geal T 2T Al & ol OT oflel g1 STl g1 Flfeh:

Options:

1. = WIEeT T oY 3HFeg gdr g
2. v WG FT G & BT &

3. * WIgel T Hlel 3SR &ar &
4. = gl FT &l

Question Number : 50 Question Id : 54592730350 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which of the following are tested to show the presence of
carbohydrates in food?

Options:

1. = Protein
2. » Vitamins
3. v Starch

4., = Fats

Question Number : 50 Question Id : 54592730350 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

HISTel # SEigege #l 3ueyfa fgama & fov farafaf@a &
8 foraerr adreror foear SIrar g7

Options:

1. = Wl
2. » TacTTAeT

3. v #8 (FeM)

4. = FET

Question Number : 51 Question Id : 54592730351 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Which of the following is not indicated by elevated Total
Dissolved Salts (TDS)?

Options:

1. v It is a serious health hazard
2. » Causes water 1o be corrosive
3. = elevated levels of ions
4. = Salty or brackish taste

Question Number : 51 Question Id : 54592730351 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

ot & @ i @ Qi g9 & of Tt (Sdew) & g
SRITT algl ST &7

Options:

1. v I8 U TR TG T gl
2. % UTal &k &lal T HIUT Feldl &
3. = AT T T d&dT gl

4. % THATT IT WRT TS|

Question Number : 52 Question Id : 54592730352 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which of the following abiotic factor affects seeds as they
grow into young plants?

Options:

1. = Alr and water only

2. » Water and light only

3. = Alr, water and heat only
4. v Alr, water, heat and light

Question Number : 52 Question Id : 54592730352 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



faafafEa & @ i @1 37oifas FReF Sier H Jar § diar 7
g & e wiaa =Tar &7

Options:

1. % hael &4aT 3T 9Tear

2. = hdel UTail 3T genrer

3. % cohdel &4T, UTaT T ITHT
4. v B4@T, 9TaT, ITAT 3T TehTem

Question Number : 53 Question Id : 54592730353 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Gustatory receptors will detect (1)____ while olfactory
receptors will detect (i1)___.

Options:

1. ¢ (1) Taste, (11) smell
2. = (1) Taste, (11) touch
3. = (1) smell, (ii) taste
4, = (1) touch, (ii) smell

Question Number : 53 Question Id : 54592730353 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

I gader Aer () T 9dT oeNd & ofeieh "momEmer (i)

T UdT ol &l

Options:

1. » (i) €@, (i) o
2. = (i) T@TE, (ii) et
3. = (i) e, (i) T@E
4. = (i) Tk, (i) T

Question Number : 54 Question Id : 54592730354 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



If a person is infected with some deadly microbes to which
quick immune response is required, we need to directly inject
the preformed antibodies. This type of immunisation is
known as:

Options:

1. = Active immunisation

2. v Passive immunisation

3. » Allergic Immunisation

4. = No such type of immunisation exist

Question Number : 54 Question Id : 54592730354 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

IR ATk fohedl OF GTcTsh TIMUI3HT & TWhIAT BT & Torden
forw wivar ufaefarat v 3mgegsar &, ar THERRTr fasafea
JIoRieaT &l I1 &7 28U e fT 9T & 30 UhR &
YTAT&TTRIOT T AT Shad &7

Options:

1. » FhT laTaienyoT

2. v s afaveferaor

3. = Uelloteh UTaL&ITRIOT

4. = UHT g UTATaRIoT 6T T

Question Number : 55 Question Id : 54592730355 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Biopsy and histopathological studies of the tissue and blood
and bone marrow tests, are the diagnostic tests for:

Options:

1. = Cholera
2. % AIDS




3. ¢ Cancer
4. = Malaria

Question Number : 55 Question Id : 54592730355 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Fclehl T SHGITORTET (STTHT) 3 Fceh fapfa
(Teecdeeiotenel) TETTAT TUT FE&AT RITART I0TAT & [olT
BT AT HETHeT GIIET0T, o 3THATT o GII&TuT &l

Options:

1. = B

2. = UgH
3. v HhaT
4. = HelLIT

Question Number : 56 Question Id : 54592730356 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which of the following rivers is known as Tsang Po in Tibet
and Jamuna in Bangladesh?

Options:

1. = Ganga

2. » Yamuna

3. » Indus

4. v Brahmaputra

Question Number : 56 Question Id : 54592730356 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

frafaf@a A @ Sia &1 71 fdedd # @R 97 3 Seeeer

H SHAT & a7 & el St 87

Options:

1. % 3@




4. v FEAYT

Question Number : 57 Question Id : 54592730357 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which of the following options has the correct sequence of
mountain ranges from North to South in India?

Options:

1. v Karakoram, Ladakh, Zaskar, Shiwalik
2. = Ladakh, Karakoram, Shiwalik, Zaskar
3. = Zaskar, Karakoram, Ladakh, Shiwalik
4. » Karakoram, Zaskar, Ladakh, Shiwalik

Question Number : 57 Question Id : 54592730357 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

fAFaEd & & i @7 AheT IRT & 3cad & & I
qdd T3l T FEl 3HeohH 87

Options:

1. v FRTRRHA, deId, Si¥hl, RIdiiola

* ORI, SRIhHA, Tearoeh, JTEhT

2.
3. * TR, FRIRNHA, oarE, Rarfes
4, » HNTPNHA, FER, o, Rarierr

Question Number : 58 Question Id : 54592730358 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which of the following oceanic currents doesn’t flow in the
Pacific Ocean?

Options:

1. v Gulf Stream



2.« Alaska Current
3. x Kuroshio Current
4. = North Equatorial Current

Question Number : 58 Question Id : 54592730358 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

fAeaTol&d H & Sid AT ASHERT STl T Ted AN &
VAT el Blcil &7

Options:

1. v Ie® T

2. % 3TollEhl SToldN]
3. = gﬂ’lﬁa’r STeTeI_T
4. = 3cal HATIERT STeldNT

Question Number : 59 Question Id : 54592730359 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

The Ganga-Satluj plains in the north-west and black soil
region of the Deccan is important for production of which
crop?

Options:

1. v Wheat
2. = Bajra
3. = Rice
4. = Ragl

Question Number : 59 Question Id : 54592730359 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

ScoR-UTeTH A TEM-Helelsl T Halel 3T goFehel 1 hrelr THET
arell U3eT ol # & Fidl ®Hel & Tolv Agcca ol &7

Options:

1.@316




2. % ST
3. = el
4, = A

Question Number : 60 Question Id : 54592730360 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

The annual population growth rate of India according to
Census 2011 is:

Options:

1. = 2 percent
2. v 1.64 percent
3. = 4 percent
4. = 2.54 percent

Question Number : 60 Question Id : 54592730360 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

STAITOTAT 2011 o 3[AR HN T ANk STaedT gig X &

Options:

1. = 2 gfcerd
2. v 1.64 yiaerd
3. = 4 yfererd
4. = 2.54 giaerd

General Awareness2

Group Number : 4

Group Id: 5459271504
Group Maximum Duration : 0

Group Minimum Duration : 0

Show Attended Group? : No

Edit Attended Group? : No

Break time: 0

Group Marks: 20

IsthisGroup for Examiner?: No



Revisit allowed for group Instructions? : Yes
Maximum Instruction Time: 0
Minimum Instruction Time: 0

General Awareness2

Section Id : 5459271504

Section Number : 1

Section type: Online

Mandatory or Optional: Mandatory

Number of Questions: 20

Number of Questionsto be attempted: 20

Section Marks: 20
Sub-Section Number: 1
Sub-Section I1d: 5459271804
Question Shuffling Allowed : Yes

Question Number : 61 Question Id : 54592730361 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

India’s latitudinal and longitudinal extent extends from
respectively.

Options:

1. v 8°4'N and 37°6'N and 68°7'E and 97°25’'E
2. » 12°4'N and 40°6'N and 48°7'E and 77°25'E
3. % 28°4'N and 57°6'N and 8°7'E and 29°25'E
4. = 18°4'N and 47°6'N and 18°7'E and 37°25'E

Question Number : 61 Question Id : 54592730361 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

AT T 37T 3R e TAT FAM: ﬁh‘i’rg‘é%l

Options:

1. v 8° 4 3. 31X 37° 6 3. 3iX 68° 7' 4. 30X 97° 25' 4.

2. % 12° 4' 3. 31T 40° 6 3. 3T 48° 7' 4, 3w 77° 25 q,
3. % 28° 4' 3, 3w 57° 6 3. 3¢ 8° 7' g, 3w 29° 25' {,

o,

4.+ 18° 4' 3. 3w 47° 6 3. 3T 18° 7' 4, 3w 37° 25' q

?



Question Number : 62 Question Id : 54592730362 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

What is the name of the book where the rules made by the
Buddhist Sanghas were laid down?

Options:

1. = Panchatantra

2. » Mahabhinishkramana
3. v Vinaya Pitaka

4. = Stotra

Question Number : 62 Question Id : 54592730362 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

39 YEdR F FT1 1A & A sl b gr’T Jere v fagA
S IET I=AT AT?

Options:

1. = 9=dd

2. % HABITHTTSHIHUT
3. v aag e
4, = TAT

Question Number : 63 Question Id : 54592730363 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which of the following options have the correct sequence of
the Mughal emperors chronologically?

Options:

1. = Akbar, Shah Jahan, Humayun, Jehangir

2. » Shah Jahan, Akbar, Jehangir, Humayun
3. v Humayun, Akbar, Jehangir, Shah Jahan
4. = Jehangir, Akbar, Humayun, Shah Jahan

Question Number : 63 Question Id : 54592730363 Question Type: MCQ Option Shuffling: Yes



Correct Marks: 1 Wrong Marks: 0.25

farafaf@d & @ T fasheq & FITeT THTET T FHTelTelshiHS
SH Hal &7

Options:
1. = 3SR, <MTESTEl, §ANY, SR
2. % ESIEl, 3hal, BN, ga-u{
3. v EATY, 3RS, STEEIN, RATESTRT
4, = BN, 3hay, ga-u{, SIRSR

Question Number : 64 Question Id : 54592730364 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Who out of the following belongs to the Sayyid Dynasty of the
Delhi Sultanate?

Options:

1. = Ghiyasuddin Balban
2. * Shamshuddin IItutmish

3. » Raziyya Sultana
4. v Khizr Khan

Question Number : 64 Question Id : 54592730364 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

AT # @ Hid &eoll Tedad & Hde Joiael 8 F&rad
&7

Options:

1. = fﬂ'ﬂ@?r Soleal
2. » TAYRIST Fodd AT
3. « Tferm Fedrer
4.

v |dgl el

Question Number : 65 Question Id : 54592730365 Question Type: MCQ Option Shuffling: Yes



Correct Marks: 1 Wrong Marks: 0.25

Lord Hastings became the first Governor General in India in

Options:

1. = 1772
2.v 1773
3. = 1775
4. % 1778

Question Number : 65 Question Id : 54592730365 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

dis aieead H AT & Ugel IdeL olellel &a o

Options:

1. = 1772
2. v 1773
3. = 1775
4, = 1778

Question Number : 66 Question Id : 54592730366 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Who had issued a notice stating that ryots would not be
compelled to accept indigo contracts in the year 1859 to quell
the anger of the indigo planters?

Options:

1. v Ashley Eden

2. » Alexander Mackenzie

3. = Augustus Rivers Thomson
4. = Richard Temple

Question Number : 66 Question Id : 54592730366 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



foreel T e SIRT T off, oA et T o R a¥ 1859
H ofTel ST Alfelshl & IEH HT Td T & o0 Tl H7
Tl 31315{'& EIPR ol & Tolv Hoe g har Sreen?

Options:

1. v Uelel 88a7

2. = 3folFalsy Hehall

3. » 3erecH Nad ATHAHeT
4. = =g SFqer

Question Number : 67 Question Id : 54592730367 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Who out of the following was a businessman and publicist
settled in London, and also a member of the British
Parliament for some time?

Options:

1. = Pherozeshah Mehta
2. v Dadabhail Naoroji

3. * Romesh Chandra Dutt
4. = Surendranath Banerji

Question Number : 67 Question Id : 54592730367 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

e @aT & @ Sl o5 A a9 arel SI9RT 3T yaRes 2,
I Fo THT & AU fSfer dug & doeg o 97

Options:

1. » TOROISTRIE HAEdI

2. v GIETHTS alleil
3. = AT Ig acd




4.w§ia?|waasﬁ

Question Number : 68 Question Id : 54592730368 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0.25

Which of the following cabinet ministers and his portfolio is
correctly matched?

Options:

1. * Amit Shah — Ministry of Defence

2. v Nitin Jairam Gadkari — Ministry of Micro, Small and
Medium Enterprise

3. » Ram Vilas Paswan — Ministry of Rural Development

4. = Ravi Shankar Prasad — Ministry of Food Processing
Industries

Question Number : 68 Question Id : 54592730368 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0.25

fAraEd § @ Fg Feac #7937 3T 3o TiaHTeT T TJar
THeTaT &7

Options:

1. » 3TAT Mg - I&T FAAT

2. v e SOUH ISR - FEA, 7Y AT ACTA 3IA A0

3. * ITH Qe 9THdTel - IATATOT QR HAT

4. » {QUHT TG - TG TEERLOT AT HATA

Question Number : 69 Question Id : 54592730369 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Who out of the following is the present President of France?

Options:

1. = Francois Hollande
2. * Justin Trudeau
3. » Angela Merkel



4. v Emmanuel Macron

Question Number : 69 Question Id : 54592730369 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

frafa@a & 8§ Fi9, B & gddA Tseuid §7

Options:

1. = Thehlsd Blols

LY

2. % Slfece T3]

?

L'

3. % TSl Hehol

4 el

4. v ZHATS Hehld

Question Number : 70 Question Id : 54592730370 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which of the following films won the Best Film Award at the
Oscars 20197

Options:

1. v Green Book

2. » BlacKkKlansman

3. » Bohemian Rhapsody
4. = Roma

Question Number : 70 Question Id : 54592730370 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

FHERT 2019 A Triloiad & & o Thed o Hasss Tthed

T JIEHPN SIar?

Options:

1. v Wl TH

o

2. % sollFhellTH
3. = SgfATe ooy
4. = JAT




Question Number : 71 Question Id : 54592730371 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which of the following is a book written by Nirad C.
Chaudhari?

Options:

1. v The Autobiography of an Unknown Indian
2. *» Discovery of India

3. = A Train to Pakistan

4. = A Suitable Boy

Question Number : 71 Question Id : 54592730371 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

farafali@d & & &l &1 gea+ =ik @1 d@leldy ggrr gt ag
&7

Options:

1. v & JCETAAThT 3T Tel 3edld Sodel
2. « HNT HT el
3. # 37 goT ¢ Tlfehectlel

4, = 37 H“E.Eo»i SIE))

Question Number : 72 Question Id : 54592730372 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Who is the Head of the World Health Organisation (WHQO)
and where is its headquarters located?

Options:

1. = Tedros Adhanom, The Hague
2. = Pascal Lamy, Geneva

3. v Tedros Adhanon, Geneva

4, = Pascal Lamy, The Hague

Question Number : 72 Question Id : 54592730372 Question Type: MCQ Option Shuffling: Yes



Correct Marks: 1 Wrong Marks: 0.25

h =3
faeq Tareey TS (Sse[Ueail) T UHE Fid & 3 gHHT
eI Fgl Tad &7

Options:

1. = 22N VSEEATH, & &
2. % UEhol oAl Toolar

3. v 2319 USEIdAd, Toladr
4. % YTERol oA, & R4

Question Number : 73 Question Id : 54592730373 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Who out of the following is considered as the “father of
modern chemistry”?

Options:

1. = Dmitri Mendeleev

2. = John Newlands

3. » Henry Moseley

4. v Antoine-Laurent de Lavoisier

Question Number : 73 Question Id : 54592730373 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

A& A O 8 "H%Tach THT TAaTel T STk HTell
ST 87

Options:

1. = TfAsT Aselm

2. * Sl ogcisd

3. = gell AN

4, v UaISI-oIlRe 81 dasaay

Question Number : 74 Question Id : 54592730374 Question Type: MCQ Option Shuffling: Yes




Correct Marks: 1 Wrong Marks: 0.25

Which of the following aspects of the Indian Constitution was
described by Dr. B. R. Ambedkar as a ‘novel feature’?

Options:

1. = Fundamental Rights

2. * Preamble

3. * Fundamental Duties

4. v Directive Principles of State Policies

Question Number : 74 Question Id : 54592730374 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

AT TGl & faraiai@d vgel3l # & fha 31, &1 311,
HFASHT o ‘Al &7 H IORT AT?

1. = Hifows JFR

2. = JEATGT

3. = Fifod Faew

4. v T dAaar & fordersh fagrd

Question Number : 75 Question Id : 54592730375 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Who out of the following are considered as the pioneers of the
Public Interest Litigation or PIL?

Options:

1. v Justice V.R. Krishna Iyer and Justice P.N. Bhagwatl

2. = Justice P.N. Bhagwati and Justice Hans Raj Khanna
3. = Justice V.R. Krishna Iyer and Justice Soli Sorabjee
4, = Justice Soll Sorabjee and Justice Nanabhoy Palkhivala

Question Number : 75 Question Id : 54592730375 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



fToad A @ TF8 STofad AT (SIS0 T WoIaT HTeT
ST 87

Options:

1. v SIFHA @l 3R, FOUT 3 3R A 9.0, Hrad]
2. * FYIHA WU, #EEdr AN AT &9 TS Tedll
3. * SAHI T, 3. FOUM AT 3N AFH el RIS
4. » STECH Hell ARSI AR TS =S qror@idre

Question Number : 76 Question Id : 54592730376 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which of the following Constitutional Amendment Acts is
related to the transfer of the Berubari Union No. 12 from
India to Pakistan?

Options:

1. = 2nd Constitutional Amendment Act

2. #= 4th Constitutional Amendment Act
3. = 7th Constitutional Amendment Act
4. v 9th Constitutional Amendment Act

Question Number : 76 Question Id : 54592730376 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

farafei@a A O sia a1 gadufes gaaa yafega sRa @
UTfehEcTel H S&RT el el 12 & FEACROT § HEAd 87

1p.we}3qwﬂ*ﬁuﬁ$mﬁa?raﬁﬁm
2. » THT AIUTTeleh Gl HTATTH
3. » Hiadl GauTlels @enye Hfafeas
4. v AaT GAYTTTeh TN TATITH

Question Number : 77 Question Id : 54592730377 Question Type: MCQ Option Shuffling: Yes



Correct Marks: 1 Wrong Marks: 0.25

On which date did Jawaharlal Nehru move the historic
‘Objectives Resolution’ in the Assembly?

Options:

1. v December 13, 1946
2. * December 24, 1946
3. = January 22, 1946
4. = January 26, 1946

Question Number : 77 Question Id : 54592730377 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

STATEYAITel Sg® of Tohd dRIE I TUHAT # Uasias '3.d
gehed hT 3ET SErRT?

Options:

1. v 13 fegsx, 1946
2. = 24 feHeR, 1946
3. % 22 STeTady, 1946
4. % 26 STeTedl, 1946

Question Number : 78 Question Id : 54592730378 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

(1) became the first player to score (1i) centuries
in a single World Cup edition recently.
Options:

1. = (1) Virat Kohli (ii) 3

2. v (1) Rohit Sharma (i1) 5

3. = (1) Kane Williamson (ii) 5
4. = (1) Johnny Bairstow (ii) 4

Question Number : 78 Question Id : 54592730378 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



(i) o BTT &7 H Uehel [@ed 9 TEROT & (i)
eTdeh SoAlal Tl Ugel Iollal &al

Options:

1. = (i) TaTe Fgar (i) 3
2. v (i) DT & (i) 5
3. = (i) ¥er TfTHEE (i) 5

4. = (i) ST aTEAT (i) 4

Question Number : 79 Question Id : 54592730379 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

In which of the following stadiums was the final match of the
ODI World Cup 2019 held?

Options:

1. = Edgbaston

2. v Lord’s

3. » Emirates Old Trafford
4. = Headingley

Question Number : 79 Question Id : 54592730379 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

aeiEa # O org REIH # ve RBaaT 3iaiseg
(38131M8) faed 9 2019 1 3ifad #w 3maaa kT = ar?

Options:

1. = Tola¥ed

2. v osq

3. * AT 3les ¢HIE
4, = gr37a

Question Number : 80 Question Id : 54592730380 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25




Which of the following sportsperson and his respective sport
is incorrectly matched?

Options:

1. * Andy Murray - Tennis

2. » Peter Handscomb - Cricket
3. * Manuel Neuer - Foothall
4. v Sebastian Vettel — Hockey

Question Number : 80 Question Id : 54592730380 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

frafel@d # @ org REamsr 3R 39 garad Tl T Ted
Aot ToRaT 1T &7

Options:

1. = U1 &Y - 2o

2. » Hliel g5adiFs - fohehe
c

ol

3. = ﬂ?fjraoi A3T - el

Mo

4. v QEEcTeT Ao - Blehl

Arithmetic Ability1
Group Number : 5
Group Id: 5459271505
Group Maximum Duration : 0
Group Minimum Duration : 0
Show Attended Group? : No
Edit Attended Group? : No
Break time: 0
Group Marks: 20
Isthis Group for Examiner?: No
Revisit allowed for group Instructions? : Yes
Maximum Instruction Time: 0
Minimum Instruction Time: 0

Arithmetic Ability1



Section 1d : 5459271505

Section Number : 1

Section type: Online

Mandatory or Optional: Mandatory

Number of Questions: 20

Number of Questionsto be attempted: 20

Section Marks: 20
Sub-Section Number: 1
Sub-Section 1d: 5459271805
Question Shuffling Allowed : Yes

Question Number : 81 Question Id : 54592730381 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

What approximate value will come in place of the question
mark?

(13.96)* — (15.03)* + (18.09)> —32.65="7
Options:

1. = 223
2. v 264
3. % 334
4. % 354

Question Number : 81 Question Id : 54592730381 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

geadrdeh Tdeg (?) oh TUTel YT oeTeHal shial AT HIel HTTIT?

(13.96)* — (15.03)* + (18.09)* —32.65="7

Options:

1. = 223
2. v 264
3. = 334
4. = 354



Question Number : 82 Question Id : 54592730382 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

What should come in place of the '?’ in the following question?

J\flﬁﬂl} +/576 = (?)?
Options:

1. = 81
2.% 3

3. = 6561
4. v 22

Question Number : 82 Question Id : 54592730382 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

faeatel@a wead & '?' & TATT W FAT AT AMRT?

Jw’lﬁﬂl] + /576 = (?7)?

Options:

1. = 81
2. % 3
3. = 6567
4. v 2+/2

Question Number : 83 Question Id : 54592730383 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

What approximate value should come in place of the
questions mark (?) in the following questions?

5 0f4011.33 + -~ 0f3411.22 = ?
8 10

Options:



1. = 4810
2. % 4980
3. v 4890
4. = 4930

Question Number : 83 Question Id : 54592730383 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

foeeT weal # (?) ™eg & TUTT 9 Fidl T AT 3T IA1ET 7

401133 FT2+3411.22 FT— =2
8 10
Options:

1. = 4810
2. = 4980
3. v 4890
4. = 4930

Question Number : 84 Question Id : 54592730384 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

What should come in place of the question mark (?) in the
following questions?

6. 10 6
- X —=+- X6%2=?
2”2 2

Options:

1.~ 180
2. % 170
3. =190
4. % 175

Question Number : 84 Question Id : 54592730384 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



T weeT # ueeardes eg (?) & T U FAT 3H=™9?

& 10 =}

=K X6 =
Options:

1. v 180

2. = 1/0

3. = 190

4. = 1/5

Question Number : 85 Question Id : 54592730385 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

What should come in place of the question mark (?) in the
following questions?

e i G
19 '

Options:

1. % 18
2.v 24
3. % 22
4 % 21

Question Number : 85 Question Id : 54592730385 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

et T Ul H UReldrder eg (?) & TATH UT FAT ™Y

e e
19 '
Options:

1. = 18



2. v 24
3. % 22
4. = 21

Question Number : 86 Question Id : 54592730386 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

What should come in place of the question mark (?) in the
following questions?

[12 x 5 - {200 - (501 + 247 - 386)}] + 2 =7
Options:

1.+ 111
2. % 62
3. =61
4. % 82

Question Number : 86 Question Id : 54592730386 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

el T e & U@ eg (?) o TATT 9T FIT RAT?

[12 x 5 - {200 - (501 + 247 - 386)}] + 2 = ?
Options:

1. v 111
2. ® 62
3. = 61
4. = 82

Question Number : 87 Question Id : 54592730387 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



A shepherd has 945 brown sheeps and 2475 red sheeps. He
wants to graze them in minimum number of groups in such a
way that each group has same colour of animals and also
contains equal no. of animals in each group. Find such
minimum no. of groups.

Options:

1. = 70
2. % 56
3.v76
4 % 84

Question Number : 87 Question Id : 54592730387 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Ueh TATET & 9 945 ofiT #3 3 2475 ol A5 &1 TE Foloh]
WA F foIT F7 § FF TCIT A U3 Talal TBET § 3N

AEAT & ToF 9 gus A UF & W@ & AT & 3N gedh
[0S H SIeTadl T HE&AT TATS 81 ol fohclel weictd 505 ghar?

Options:

1. = 70
2. = 56
3. v 76
4. = 84

Question Number : 88 Question Id : 54592730388 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

X + 2x* — 357 + &2 + 2x + 8 divisible by x + 2 what will be remainder ?

Options:

1. v 32
2. % 64
3. = 16



4. % 128

Question Number : 88 Question Id : 54592730388 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

O 42 38 + 2+ 2+ 8 Fx + 2 W HIET &7 TT 9IS Fel 4T BT

Options:

1. v 32
2. = 64
3. = 16
4. = 128

Question Number : 89 Question Id : 54592730389 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

What least value must be assigned to * so that the number
4567*234 is divisible by 97?7

Options:

1.v5
2. % 2
3.%3
4 %4

Question Number : 89 Question Id : 54592730389 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

+ o TAT W FH & FH g AT giaeaiivg ar Jmer
ANBT dfer TEAT 4567 * 234, 9 ¥ e ar s

Options:

1. ¢

5
2. % 2
3. % 3
4. = 4



Question Number : 90 Question Id : 54592730390 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

How many numbers between 1 to 1000 which are multiples
of 6 but not of 18?

Options:

1. = 110
2. v 111
3. = 100
4. % 112

Question Number : 90 Question Id : 54592730390 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

1 & 1000 &= FRdslT AV &, ST 6 T VTSl § ofshat 18
hT aTal?

Options:

1. = 110
2. v 111
3. = 100
4. % 112

Question Number : 91 Question Id : 54592730391 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

The average age of seven men, ten women and two boys is 35
years. The average age of all the seven men is 39 years. The
average age of all the ten women is 36 years. Find the average
age of two boys (in years).

Options:

1. =14
2.v 16
3. % 17
4 % 15



Question Number : 91 Question Id : 54592730391 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

AT g, 8 Afgensll 3R & o5l T 3ad 31 35 ¥ g
TefT @ gl k1 AT 3 39 a¥ g @l =@ Afgenst dr
3T 3 36 a¥ &1 & wsel HT 3Ed g AT wE (@A)

Options:

1. = 14
2. v 16
3. = 17
4. = 15

Question Number : 92 Question Id : 54592730392 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

The average of six numbers is 75. The average of first five
numbers is 64. The average of last five numbers is 80. Find
the difference between first and last number.

Options:

1. = 50
2. % 065
3. %94
4. v 80

Question Number : 92 Question Id : 54592730392 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

B G&IT3 1 3Ed 75 &1 ggel gig TEITAT T 3Ed 64 §
ATAHE 9T &A1 3ad 80 &1 Ugen 3R MfaHA I&AT *
dT FT 3L AT I

Options:

1. = 50




2. = 65
3. = 94
4. v 80

Question Number : 93 Question Id : 54592730393 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

The marked price of a product 1s 40% above its cost price.
Two successive discounts of 10% and 5% are given on marked
price. If the difference between two discounts is Rs. 154, then
find the difference between cost price and marked price (in
Rupees).

Options:

1. = 750
2. v 800
3. = 1000
4. % 720

Question Number : 93 Question Id : 54592730393 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

fordlT a&q T 3R Ao 3Tk AT Hed d 40% 3+ g
fhd Hed W 10% 31X 5% & ar @+ oe fGw av & afg
ar el & ST H A T 154 §, a6 0T Hod AT 3HTehd

HAed (%90 #H) & S ST 3 AT e

Options:

1. = 750
2. v 800
3. = 1000
4. = 720




Question Number : 94 Question Id : 54592730394 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

The number of boys and girls in a class is in the ratio 5 : 3.
20% of the boys denied to go for a picnic while 30 girls are
ready to go for the picnic. If total 94 students are ready to go
for the picnic, then what is the total number of girls in the
class?

Options:

1. v 48
2. % 33
3. % 39
4, % 51

Question Number : 94 Question Id : 54592730394 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Ueh T H ogehl 3T orsTehal &I F&AT 5 @ 3 & 3yl # g
20% SRl o TUhfelsh & TOIT STl & SR FT T, FAdlh
30 wrsferar foshfash et & fav G &1 Ife o 94 o
faehfelsh STl & Tolw SOTT &, AT & & sfhal Hr o TE&
T §7

Options:

1. v 48
2. % 33
3. = 39
4. = 51

Question Number : 95 Question Id : 54592730395 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



There are three numbers a, b and ¢. 25% of a 1s equal to the
12% of b. 20% of b is equal to the 10% of ¢. By what percent ¢
is more than a?

Options:

1. » 250 percent

2. % 24 percent

3. v 316.67 percent
4. % 125.33 percent

Question Number : 95 Question Id : 54592730395 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

T GEIT a, b AT c &l a FT 25 %, b & 12% & s &
b T 20%, ¢ & 10% & SIS &1 ¢, a & Teohde uiderd M9«
&7

Options:

1. = 250 ufoerd
2. % 24 wierd
3. v 316.67 ufqera
4. = 125.33 ufaerd

Question Number : 96 Question Id : 54592730396 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Aditi spends 48% of her income for food, 25% of the
remaining on traveling, one third of the remaining on
entertainment which is equal to Rs. 2600. If she saves the rest,
find her saving (in rupees).

Options:

1. v 5200
2. = 4800
3. = 6500



4. % 5450

Question Number : 96 Question Id : 54592730396 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

HfeTa diter & TOIT 3UaT 3T KT 48%, ITHT 9T AW T 25%,
HAaolel 9T €Y T Ueh [d@l T hidl g of 93 2600 &
FUEY &1 39N g8 &Tehl gdTdT &, dr 39kl s9d (F9¢ #) A9
|

Options:

1. v 5200
2. = 4800
3. = 6500
4. = 5450

Question Number : 97 Question Id : 54592730397 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

A milkman bought 60 litres of milk at Rs. 30 per litre. For
every four litres of milk he added one litre of water and sold
the entire mixture at Rs. 32 per litre. Find his profit
percentage.

Options:

1. = 25 percent
2. % 20 percent
3. v 33.33 percent
4. » 16.66 percent

Question Number : 97 Question Id : 54592730397 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



U guaTel o 60 ofleY g F9F 30 Ui ehel # ={iEr v
IR ofleT T H 3 Ueh ol Tt fAemr A q¥ fAsor i
0T 32 UTa olled H ST 3HRT oTH 9iderd ATd hiolv|

Options:

1. = 25 wfderd
2. % 20 fcrerd
3. v 33.33 wfaerd
4. % 16.66 wfcerd

Question Number : 98 Question Id : 54592730398 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

The selling price of a product A and a product B are in the
ratio 5 : 1. Product A was sold at Rs. 800 and 60% profit
earned on it. Product B was sold at 25% profit. Find the total
cost of product A and product B (in rupees).

Options:

1.~ 628
2. % 712
3. = 548
4. = 580

Question Number : 98 Question Id : 54592730398 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Uk 3cUTg A 3 3c91g B T ST Heg 50 1 H B 391G A
FT 9T 800 F ST I1AT 2T 3R 50 W 3Toid areT 60% 2Tl

3cUTE B, 25% oM ¥ ST IR—T AT 3c9le A 3T 3curg B T
Fel o (39 H) AT FL

Options:

1. v 628




2. % /12
3. = 548
4. = 580

Question Number : 99 Question Id : 54592730399 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Shrikant sold a microwave by offering a discount of 10% and
earned 35% profit. The marked price of microwave 1is Rs.
18000. Find the profit earned by him (in Rupees).

Options:

1. = 3600
2. % 3950
3. = 4070
4, v 4200

Question Number : 99 Question Id : 54592730399 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

SHIT o 10% T D ST ATgshiag ST 3R 35% o 3ifeicd
TR ATSshidT 1 RITEAd $AEd 18000 93 &1 38 gaNl
Mord fFT 1T o &1 (39 H) AT F

Options:

1. = 3600
2. = 3950
3. = 4070
4. v 4200

Question Number : 100 Question Id : 54592730400 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



The ratio of number of males to females in a colony is 3 : 2.
The ratio of employed to unemployed persons among males is
51 4. Find the ratio of employed males to the total number of
persons in the colony.

Options:

1.=1:
2.v1:
3.% 2.
4, % 3.

1 W N

Question Number : 100 Question Id : 54592730400 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Uk Flellall A TENT T TEAT 3T AT T TEIT FT 3T
3:28 | T2 & o FRRT 3N SVHEIR AFTAT FT 3T

5: 4 g1 Flalell A FRRT TEN HT TEAT T TFAAT T Fel
HEAT & I 3T AT H
Options:
1.« 1 : 2
2. v 1:3
3. = 2:5
4, = 3 :5
Arithmetic Ability2
Group Number : 6
Group Id: 5459271506
Group Maximum Duration : 0
Group Minimum Duration : 0
Show Attended Group?: No
Edit Attended Group? : No
Break time: 0
Group Marks: 20

Isthis Group for Examiner?: No



Revisit allowed for group Instructions? : Yes

Maximum Instruction Time: 0
Minimum Instruction Time: 0
Arithmetic Ability?2
Section Id : 5459271506
Section Number : 1
Section type: Online
Mandatory or Optional: Mandatory
Number of Questions: 20
Number of Questionsto be attempted: 20
Section Marks: 20
Sub-Section Number: 1
Sub-Section I1d: 5459271806
Question Shuffling Allowed : Yes

Question Number : 101 Question Id : 54592730401 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Two persons earns in the ratio 4 : 7. If both earns Rs. 3000
more, the ratio of earning will be 2 : 3. Find the sum of their
earning (in rupees).

Options:

1. = 13200
2. v 16500
3. = 19800
4. » 15400

Question Number : 101 Question Id : 54592730401 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

ol e 4 @ 7 o 3 # A §1 I A o 9 3000

3Ok FATT, AT KA FT Hegdld 2 : 3 RN | 3eThl FATS F
JqET (B9 H) AT R

Options:

1. = 13200



2. v 16500
3. = 19800
4. = 15400

Question Number : 102 Question 1d : 54592730402 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Four numbers (k—3), (k—1), (k+ 1)and (k + 5) are in proportion. Find the value of (k> +k).

Options:

1. v 56
2. % 72
3. % 30
4. % 110

Question Number : 102 Question Id : 54592730402 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

IR TEM (k- 3), (k- 1), (k+ 1) 3R (k+ 5) FAUE A 1 (k2 + k) T AT A1 HifSC|

Options:

1. v 56
2. % /2
3. = 30
4. = 110

Question Number : 103 Question Id : 54592730403 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

At the rate of 9% per annum at simple interest a person
obtained Rs. 864 as interest in four years. How much more
interest could he get if the rate of interest was 13% per
annum (in rupees)?

Options:

1. = 248
2. % B30



3. v 384
4, = 548

Question Number : 103 Question Id : 54592730403 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

GTIROT sTTof W 9% wia a¥ T e @ vk =Ifoea & I gut
H ST o ®7 H 9T 864 ureq forw| afg sars Fr 2T 13%
i @y gidr, o 38 forder 3T e s (393 #) @edr ?

Options:

1. = 248
2. » 656
3. v 384
4. = 548

Question Number : 104 Question 1d : 54592730404 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Rs. 7000 amounted to Rs. 8780.8 in 2 years at a certain rate of
compound interest. In what time will Rs. 9000 amounted to
Rs. 12240 at the same rate of simple interest (in years)?

Options:

1. % 2
2.v 3
3.% 1.5
4. % 2.5

Question Number : 104 Question Id : 54592730404 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Thgl& ST T T faffad a7 W 2 a9 & 7000 &9 T
TTfer 8780.8 YA & SATdT &1 HTYRUT STl hl HHIA & &
foraa @A & (@9 #) 9000 sw=r v Tfer 12240 s &
SITCa?

Options:

1. = 2
2. v 3
3. = 1.5
4. = 2.5

Question Number : 105 Question Id : 54592730405 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Sameer borrowed Rs.14000 at 15% per annum and Rs. 18000
at 11% per annum at simple interest. The total interest paid
by him at the end of the two years will be (in rupees).

Options:

1. v 8160
2. % 7240
3. = 7600
4. = 7920

Question Number : 105 Question Id : 54592730405 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

AR o GTYR0T &g7eT 9 15% 9fcr a¥ $r 2T & 14000 s394
3T 1% ufer a¥ $r T & 18000 9 &1 3UN fomm| ar au
% 3T A 3Fh NI ITdTel fohaT IAT Fol STTST (39T H) BT

Options:

1. v 8160
2. = 7240




3. = /600
4. = 7920

Question Number : 106 Question Id : 54592730406 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

The length of a train and that of a platform are equal. If with
a speed of 108 km/hr the train crosses the platform in one
minute. Then the length of the train (in metres) is:

Options:

1. = 450
2. % 2700
3. v 900
4. = 1800

Question Number : 106 Question 1d : 54592730406 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Teh IGETET JdUT TolcWhid =hl olFa13dl THATT &l Ieamsr 108
ﬁnﬁfﬁaﬁr?ﬁﬁaﬂﬁgﬁmaﬁwﬁmﬁwm
o 1 ST Ye@MST T Fel FFIRE (Hed A) forcalr &

Options:

1. = 450
2. % 2700
3. v 900
4. = 1800

Question Number : 107 Question 1d : 54592730407 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

By walking at —i of his usual speed Bholu reaches his office 20 minutes later than his usual time. The usual time
taken by him to reach his office is:
Options:

1. = 75 min



2. v 60 min
3. = 40 min
4. = 30 min

Question Number : 107 Question Id : 54592730407 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

AT A & 2 ST 3 AL A R v forarar worer 3 20 et e &1 e 1 e wgery 1 e forara
AT FT &2

Options:

1. = 75 THae
2. v 60 TR
3. = 40 fAae
4, « 30 TAac

Question Number : 108 Question Id : 54592730408 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

A Express train covers a distance of 3584 km in 2 days 8
hours. If it covers 1440 km on the first day and 1608 km on
the second day, by how much does the average speed of the
train or the remaining part of the journey differ from that for
the entire journey?

Options:

1. v 3 km/hrs
2. % 4 km/hrs
3. = 10 km/hrs
4. = 2 km/hrs

Question Number : 108 Question Id : 54592730408 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



U TFFUH JeEmar 3584 foRAT. Fr gt #r 2 o 8 S H T
HLAT &1 TiE T§ Tge Tl 1440 ForaAT. qar g@l fda 1608
foRAT. 1 T O FIAT &1 TIRD Ye@msT HT Ao AT oIt qor
dray fear T A IrEr 1 ad Ia # Tohddr 3AaT gem?

Options:

1. v 3 Thel/ gar
2. = 4 ToraAY =er
3. = 10 TorAY =er
4. = 2 TraAY =ger

Question Number : 109 Question Id : 54592730409 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

40 men can finish a piece of work in 40 days. They started the
work together, but after every 10 days, 5 men leave the work,
the whole work will finish in?

Options:

1. = 54 days
2. » 56 days

42 Edays
3

3. %

4 v 55%(1(1}'5

Question Number : 109 Question 1d : 54592730409 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



40 =TT Uk S & 40 oo & TATTT & Tl &1 3eglad
SR Tk Gre AR OF FRAT AT, W gedw 10 et 91 5
TR FT BISHT o &, df FRT HI THATCT 8l H Tohcelr
GHT ofd1am?

Options:

1. » 54 fga

2. = 56 fga
425%?

3. %

4., v 565%

Question Number : 110 Question Id : 54592730410 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

A 13 20% more efficient than B.They both together complete
the work in 20 days.In how many days B will alone complete
the work?

Options:

1. v 44 days
2. = 48 days
3. % 24 days
4. = 12 days

Question Number : 110 Question Id : 54592730410 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

A, B I ool # 20% 3deh Frdeherel ¥l 2l fFeeht 20
feall # TH [ Fd &1 B Torcdal faall # 37hol 1A G0 HLam?

Options:

1. v 44 &




2. = 48 &
3. = 24 f&a
4. = 12 a1

Question Number : 111 Question Id : 54592730411 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

A can complete a work in 10 days. B can complete the same
work in 15 days. If B starts the work and A joins him after 5
days, then in how many days will the work be completed?

Options:

1.6
2.% 8
3.% 7
4.v9

Question Number : 111 Question Id : 54592730411 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

A TRET ST FT 10 &l & 9I0 T Fhal &1 B 38T ST 1
15 el & QU FT TRl &1 AMG B FIH UFE FIAT & 3 A, 5
feall o sTe 38 g &, dr wRT fohdel fealt & 9@ ghem?

Options:

1. = 6
2. % 8
3. % 7/
4, v 9

Question Number : 112 Question Id : 54592730412 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

If the diagonal and the area of a rectangle are 29 m and 420
square meter respectively, what is the length of the rectangle?



Options:

1. = 25 meter
2. 18 meter
3. % 22 meter
4. v 21 meter

Question Number : 112 Question 1d : 54592730412 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Ush I hT ARl 3T &9%ol shAT: 29 Al 3T 420 et
AT &, dr I #T @ s Tohdar §7

Options:

1. = 25 HAIX
2. = 18 HICT
3. = 22 AKX
4, v 21 #AIKI

Question Number : 113 Question 1d : 54592730413 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

The ratio of volumes of two cubes is 343 : 729. What is the
ratio of their total surface areas?

Options:

1. = 7:81

2. % 36:49
3. = 64:125
4.+49: 81

Question Number : 113 Question Id : 54592730413 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

& TEl K A HT IHeurd 343 : 729 ¥l 3ok Fel Tl
& AEoll T STedTeT &

Options:




1. = 7 : 81

2. = 36 : 49
3. = 64 ;125
4. v 49 : 81

Question Number : 114 Question Id : 54592730414 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Four equal sized maximum circular pages are cut off from a
square paper sheet of area 3136 square cm. The
circumference of each plate is:

Options:

1. v 88 cm
2. % 84 cm
3. % 86 cm
4. = 89 cm

Question Number : 114 Question Id : 54592730414 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0.25

IR e 3R T JATOFadHd MarhR 9t & 3136 ot TAT
F IR UUT Al & Fichd TolhTell ST &1 Ucdeh Tole hl
gRfer &:

Options:

1. v 88 @AY
2. % 84 @AY
3. = 86 OAT
4. % 89 THY

Question Number : 115 Question 1d : 54592730415 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25




Refer the below data table and answer the following question.

Weight (kg) Height (m)
Archita 67 163
Arpana 67 1.51
Arpita 57 1.56
Anindhati 73 1.59

Who has the least weight?

Options:

1. = Archita

2. » Arpana

3. v Arpita

4. = Arundhati

Question Number : 115 Question Id : 54592730415 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

A A a0 32T arferehT & YR W faFaai&d uea T 3o
gl

Tora (Rratam) | 3 (Aew)
wan 67 1.63
IGOT] 67 153
Hiar 57 1.56
HErerd! 73 1.59

o8 FH golel [ohdehT &7

Options:

1. % 3T<rdr
2. % 39O
3. ¢ M™ar



4. » ETAT

Question Number : 116 Question Id : 54592730416 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0.25

The following pie-chart gives the break-up (in degrees) of land
with various continents. Answer the questions on the basis of
the pie-chart given.

Figure in degrees

, 13

If the total area is 180 million sq. miles, what will be the area
under E and G?

Options:

1. = 56 million sq.miles
2. * 50 million sq. miles
3. v 60 million sq.miles
4. = 46 million sq.miles

Question Number : 116 Question Id : 54592730416 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



fArafei@a ag-are faffiee Aaredat & aryr {fF & oo
(fafy &) zafar &1 /e a0 A & 3muR W weal & 3ca? 2
|

wres fEeft &

afe el &lathel 180 fAfoer @9f #Hier & a1 E @1 G & 37csid
e TTeT &%l ohdalT 97

Options:

1. = 56 TATerar gt dArer
2. = 50 TATerger aet #Hrer
3. v 60 TAferger gt drer
4, = 46 TATeTe Tt Hrel

Question Number : 117 Question Id : 54592730417 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Study the following table carefully to answer these questions:

Populations (in thousands) of Six States over
the years
STATE

A B c D E F

1992 | 125 | 210 85 150 98 138
1995 | 135 | 225 89 170 | 110 152
1998 | 142 | 240 93 180 | 130 160
2001 | 148 | 250 99 215 | 140 175
2004 | 155 | 270 | 105 | 230 | 145 190
2007 | 160 | 290 | 110 | 240 | 160 198

Years

Which state had the highest percent rise in population from
2001 to 2004?

Options:

1. = C
2. % B
3.% D
4.vF

Question Number : 117 Question 1d : 54592730417 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



fArafaf@a deall &1 3ca¥ &ot & v aEuEiyEas fAeafafd

dTTelRT T 3TeTITT FHi|

fgw av awf # 6 ToEl Fr FHEEAT (R #A)
b =T
A B c D E F
1992 125 | 210 85 150 98 138
1995| 135 | 225 89 170 | 110 152
1998 | 142 | 240 93 180 | 130 160
2001 | 148 | 250 99 215 | 140 175
2004 155 | 270 | 105 | 230 | 145 190
2007 160 | 290 | 110 | 240 | 160 198

2001 & 2004 T Siwear # @ v b wha e g57?

Options:

1. = C
2. = B
3. = D
4, v F

Question Number : 118 Question Id : 54592730418 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Study the following graph carefully to answer these questions:

Production of an article of Various Companies in a month

1200
1000
1000 330
; 800

800 e

- 500
600 - 599
400
200 -

0 - : . : : :
A B c D E F

& Unit Produced

What is the approximate average number of article produced
by all the Companies together?

Options:

1. = 725
2. v 758
3. =720
4. % 900

Question Number : 118 Question Id : 54592730418 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



fArafaf@a deall &1 3ca¥ &ot & v aEuEiyEas fAeafafd

ITE KT T Fi|

fralt FERY #F Raffr== St o Feeht aeg

Jcama=T
1200
1000 =0 —
= 200

200 700

e 500
500 A 500
400 I
200

G L T T T T T
A B c o E F
- I

T HYfadl o gan Fol el T olaT-877] Adraa =T &7

Options:

1. = 725
2. v 758
3. = /20
4. = 900

Question Number : 119 Question 1d : 54592730419 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Study the following graph carefully to answer these questions:

Production and sale of Mobile of Various Companies in @ month

s nit Produced e init Sold

The total mobiles sold by Companies D, E and F together are
approximately what percent of the total mobiles produced by
D, E and F together?

Options:

1. = 28 percent
2. % 72 percent
3. = 75 percent
4. v 86 percent

Question Number : 119 Question Id : 54592730419 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



fArafaf@a deall &1 3ca¥ &ot & v aEuEiyEas fAeafafd

ITE FT eI Fi

et A & A= $ufl § dEEa F1 3cuea it B

I 10

$9I D, E 3 F ggrr a1 318 Fo Aese , D, E 3T F
ORI Scatfeed el HiaTgel 1 FEmsfaT feovctalr fererd 7

Options:

1. = 28 gfaerd

2. % 72 yiderd
3. = 75 gfgera
4. v 86 yfaerd

Question Number : 120 Question 1d : 54592730420 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



The following table shows the world production of steel in
1920-1927. Study the table and answer the question.

Production (in million tons)
150

0017

100 ??23 3893 91?5 1
71.30 67.66 ?523
50 I 4351
0

1920 1921 1922 1923 1924 1925 1926 1927

The difference of the production of steel in the year 1923 and
1924 is X% of year 1927. Then the value of X approximately?

Options:

1. = 0.1
2. % 0.01
3. = 0.001
4.v1

Question Number : 120 Question Id : 54592730420 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



fFafa@aa arfasr & 1920-1927 a< @eg & sTurd
3T ST AT &1 dTfelehl hT 3eddol e M weal T
3cad o

Swareq (fafeas ==t #)

00.17

100 7723 3593 91?5 1
71.30 5756 ?E 23
50 I 4351

1920 1921 1922 1923 1924 1925 1926 1927

150

o

a¥ 1923 31X 1924 H ITUTT & 3c9Gad T 3L ay 1927 &1
x% &1 X ST HATeT 91T Thder &7

Options:
1. = 0.1
2. = 0.01
3. = 0.007
4. v 1
General English1
Group Number : 7
Group Id: 5459271507
Group Maximum Duration : 0
Group Minimum Duration : 0
Show Attended Group?: No
Edit Attended Group? : No
Break time: 0
Group Marks: 20
Isthis Group for Examiner?: No
Revisit allowed for group Instructions? : Yes

Maximum Instruction Time: 0



Minimum Instruction Time: 0

General Englishil

Section Id : 5459271507

Section Number : 1

Section type: Online

Mandatory or Optional: Mandatory

Number of Questions: 20

Number of Questionsto be attempted: 20

Section Marks: 20
Sub-Section Number: 1
Sub-Section 1d: 5459271807
Question Shuffling Allowed : Yes

Question Number : 121 Question 1d : 54592730421 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Identify the segment in the sentence which contains the
grammatical error from the given options.

President John F. Kennedy deliver a stirring speech to
Congress praising the importance of sending an astronaut to
the moon.

Options:

1. = President John F. Kennedy

2. v deliver a stirring speech

3. » praising the importance of sending
4. = an astronaut to the moon.

Question Number : 121 Question Id : 54592730421 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



|dentify the segment in the sentence which contains the

grammatical error from the given options.

President John F. Kennedy deliver a stirring speech to
Congress praising the importance of sending an astronaut to

the moon.

Options:

1. = President John F. Kennedy

2. v deliver a stirring speech

3. = praising the importance of sending
4. = an astronaut to the moon.

Question Number : 122 Question 1d : 54592730422 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Identify the segment in the sentence which contains the
grammatical error from the given options.

Visitors to the Kennedy Space Center can learned about the
progress and failures of space exploration.

Options:

1. = Visitors to the Kennedy Space Center
2. v can learned about the

3. = progress and failures

4, = of space exploration.

Question Number : 122 Question Id : 54592730422 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



|dentify the segment in the sentence which contains the

grammatical error from the given options.

Visitors to the Kennedy Space Center can learned about the

progress and fallures of space exploration.

Options:

1. = Visitors to the Kennedy Space Center
2. v can learned about the

3. ® progress and failures
4,

= of space exploration.

Question Number : 123 Question Id : 54592730423 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Identify the segment in the sentence which contains the
grammatical error from the given options.

A lunar eclipse occurs when the sun, Earth, and the moon
align so that Earth’s shadow falls above the lunar disk.

Options:

1. = A lunar eclipse occurs

2. * when the sun, Earth, and the moon
3. » align so that Earth’s shadow

4. v falls above the lunar disk.

Question Number : 123 Question Id : 54592730423 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



|dentify the segment in the sentence which contains the

grammatical error from the given options.

A lunar eclipse occurs when the sun, Earth, and the moon

align so that Earth’s shadow falls above the lunar disk.

Options:

1. = A lunar eclipse occurs
2. = when the sun, Earth, and the moon
3. # align so that Earth’s shadow

4. v falls above the lunar disk.

Question Number : 124 Question Id : 54592730424 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Identify the segment in the sentence which contains the
grammatical error from the given options.

One digger in illegal bore wells freely admitted to me that he
had paid a bribe to get a permit for a deep well-after he had
already dug it.

Options:

1. v One digger in illegal bore wells

2. = freely admitted to me that

3. = he had paid a bribe to get a permit
4. = for a deep well

Question Number : 124 Question Id : 54592730424 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



|dentify the segment in the sentence which contains the

grammatical error from the given options.

One digger in illegal bore wells freely admitted to me that
he had paid a bribe to get a permit for a deep well-after he

had already dug It.

Options:

1. v One digger in illegal bore wells
2. » freely admitted to me that
3. = he had paid a bribe to get a permit

4, = for a deep well

Question Number : 125 Question 1d : 54592730425 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Identify the segment in the sentence which contains the
grammatical error from the given options.

If you're not actually studying the affect of emotions on
others, we're missing an important social aspect.

Options:

1. = If you're not actually studying
2. v the affect of emotions on others
3. * we're missing an

4. = important social aspect.

Question Number : 125 Question Id : 54592730425 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



|dentify the segment in the sentence which contains the

grammatical error from the given options.

If you're not actually studying the affect of emotions on

others, we're missing an important social aspect.

Options:

1. = If you're not actually studying

2. v the affect of emotions on others
3. ® we're missing an

4. = mportant social aspect.

Question Number : 126 Question Id : 54592730426 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the most appropriate option to substitute the
underlined segment in the given sentence. If there is no need
to substitute it, select option No substitution required.

In October 1997, tourists near San Francisco, witnessed two
killer whales attacked a great white shark and consumed its

liver.

Note: For this question, discrepancy isfound in question/answer. So,this question isignored for al
candidates.
Options:

1. attack a great white shark and consume

2. attacked a great white shark and consume
3. attack a great white shark and consumed
4. No substitution required

Question Number : 126 Question Id : 54592730426 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Select the most appropriate option to substitute the
underlined segment Iin the given sentence. If there Is no

need to substitute It, select option No substitution required.

In October 1997, tourists near San Francisco, witnessed two

killer whales attacked a great white shark and consumed its

liver.

Note: For this question, discrepancy isfound in question/answer. So,this question isignored for all
candidates.

Options:

1. attack a great white shark and consume

2. attacked a great white shark and consume
3. attack a great white shark and consumed
4,

No substitution required

Question Number : 127 Question 1d : 54592730427 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the most appropriate option to substitute the
underlined segment in the given sentence. If there is no need
to substitute it, select option No substitution required.

Its like that orcas targeted shark livers because they’re high-
fat and delicious.

Options:

1. = Its like that orcas target

2. v It’s likely that orcas target
3. = It’s likely that orcas targeted
4. = No substitution required



Question Number : 127 Question Id : 54592730427 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the most appropriate option to substitute the
underlined segment in the given sentence. If there I1s no

need to substitute It, select option No substitution required.

lts like that orcas targeted shark livers because they’re high-

fat and delicious.

Options:

1. = lts like that orcas target
2. v It's likely that orcas target
3. = It's likely that orcas targeted

4. = No substitution required

Question Number : 128 Question Id : 54592730428 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the most appropriate option to substitute the
underlined segment in the given sentence. If there is no need
to substitute it, select option No substitution required.

We all experience the constant drama of the new and the
constant sorrow of the losing of what we had left behind.

Options:

1. = the loss for what we’ve leave behind

2. = the losing of what we had leaved behind
3. v the loss of what we’ve left behind
4. = No substitution required

Question Number : 128 Question Id : 54592730428 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Select the most appropriate option to substitute the
underlined segment Iin the given sentence. If there Is no

need to substitute It, select option No substitution required.

We all experience the constant drama of the new and the

constant sorrow of the losing of what we had left behind.

Options:

1. = the loss for what we’ve leave behind

2. » the losing of what we had leaved behind
3. v the loss of what we've left behind

4, = No substitution required

Question Number : 129 Question 1d : 54592730429 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the most appropriate option to substitute the
underlined segment in the given sentence. If there is no need
to substitute it, select option No substitution required.

The orca population off South Africa 1s less well studied than

the one off California, in part because humans rarely
encounter them.

Options:

1. = are lesser well studied then the one
2. = 13 less well study than the one

3. = are less well studied than

4. v No substitution required

Question Number : 129 Question 1d : 54592730429 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Select the most appropriate option to substitute the
underlined segment Iin the given sentence. If there Is no

need to substitute It, select option No substitution required.

The orca population off South Africa 1s _less well studied

than the one off California, In part because humans rarely

encounter them.

Options:

1. = are lesser well studied then the one
2. % Is |less well study than the one
3. = are less well studied than

4. v No substitution required

Question Number : 130 Question Id : 54592730430 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the most appropriate option to substitute the
underlined segment in the given sentence. If there is no need
to substitute it, select option No substitution required.

To coping with the heats, many cities are planting trees and
carving out open spaces.

Options:

1. v To cope with the heat

2. = Coped with the heat

3. » Cope with the heat

4. = No substitution required

Question Number : 130 Question Id : 54592730430 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Select the most appropriate option to substitute the
underlined segment Iin the given sentence. If there Is no

need to substitute It, select option No substitution required.

To coping with the heats, many cities are planting trees and

carving out open spaces.

Options:

1. v To cope with the heat
2. » Coped with the heat
3. = Cope with the heat

4, = No substitution required

Question Number : 131 Question 1d : 54592730431 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the most appropriate word to fill in the blank.

The Indian law prohibits the employment children in
factories but the law is violated several times.

Options:

1. v of
2. % by
3. % at
4. = from

Question Number : 131 Question 1d : 54592730431 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Select the most appropriate word to fill in the blank.

The Indian law prohibits the employment children

in factories but the law Is violated several times.

Options:

1. v of
2. % by
3. » at
4. = from

Question Number : 132 Question Id : 54592730432 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the most appropriate word to {ill in the blank.

The Indian Space Programme from its very inception
geared towards national development.

Options:

1. » have been
2. v has been
3. = have

4. = has

Question Number : 132 Question Id : 54592730432 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the most appropriate word to fill in the blank.

The Indian Space Programme from its very inception

geared towards national development.

Options:



1. = have been
2. v has been
3. # have
4. = has

Question Number : 133 Question Id : 54592730433 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the most appropriate word to {ill in the blank.

The practical gardener knows that both seed and the soil are
necessary the proper growth of a plant.

Options:

1. % in
2. = by
3. v for
4. = of

Question Number : 133 Question Id : 54592730433 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the most appropriate word to fill in the blank.

The practical gardener knows that both seed and the soll

are necessary the proper growth of a plant.

Options:

1. = In
2. % by
3. v for
4



Question Number : 134 Question 1d : 54592730434 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the most appropriate word to fill in the blank.

The nineteenth century saw the advent of the telegraph, the
telephone, and the camera the development of the
automobile.

Options:

1. = together as
2. = hut also

3. = 1n spite of

4, v along with

Question Number : 134 Question Id : 54592730434 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the most appropriate word to fill in the blank.

The nineteenth century saw the advent of the telegraph, the

telephone, and the camera the development of the

automobile.

Options:

1. = together as
2. = but also

3. ® In spite of
4, v along with

Question Number : 135 Question 1d : 54592730435 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Select the most appropriate word to {ill in the blank.

The major positive point of the communication revolution is
that it has brought people together and the feeling of
a global village.

Options:

1. = foster

2. v fostered
3. » fostering
4. = has foster

Question Number : 135 Question 1d : 54592730435 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the most appropriate word to fill in the blank.

The major positive point of the communication revolution Is

that it has brought people together and the feeling

of a global village.

Options:

1. = foster
2. v fostered
3. = fostering

4. = has foster

Question Number : 136 Question Id : 54592730436 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Select the most appropriate word to {ill in the blank.

It is only initiative that one can take appropriate
action to implement ideas, programmes and projects.

Options:

1. = In

2. v through
3. » beside
4, = by

Question Number : 136 Question Id : 54592730436 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the most appropriate word to fill in the blank.

It 1s only Initiative that one can take appropriate

action to implement ideas, programmes and projects.

Options:

1. = In
2. v through
3. # beside
4. = by

Question Number : 137 Question Id : 54592730437 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the most appropriate word to {ill in the blank.

the world moves away from capital intensive
industrial base to knowledge intensive information base, the
role of the service sector will increase substantially.

Options:



1. = For
2. » By
3. v AS
4. = With

Question Number : 137 Question Id : 54592730437 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the most appropriate word to fill in the blank.

the world moves away from capital intensive

industrial base to knowledge intensive Information base, the

role of the service sector will increase substantially.

Options:

1. = For
2. » By
3. v As
4. = With

Question Number : 138 Question Id : 54592730438 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the most appropriate word to {ill in the blank.

being one of the ten most industrialized nations in the
world, Indian industry has lagged behind other countries in
effective and proper use of inputs.

Options:

1. = Because
2. » But
3. » In spite



4. v Despite

Question Number : 138 Question Id : 54592730438 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the most appropriate word to fill in the blank.

being one of the ten most industrialized nations In
the world, Indian industry has lagged behind other countries

iIn effective and proper use of inputs.

Options:

1. = Because
2. = But

3. #= In spite
4, v Despite

Question Number : 139 Question Id : 54592730439 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Rearrange the following sentences in their correct order to
form a meaningful paragraph.

A: For exotic beauty, few flowers rival the ghost orchid.

B: It’s long been thought that only one insect, the giant sphinx
moth, had a long enough proboscis to pollinate these orchids—
but new images and research prove that wrong.

C: As they feed, moths rub against a pollen source and pick up
grains they’ll transfer to other orchids they visit.

D: These rare orchids have long nectar tubes into which
moths stick their tongue like proboscises to reach a sugary
reward.

Options:

1. v ADCB
2. » ACBD
3. = ABDC
4. = ACDB

Question Number : 139 Question Id : 54592730439 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Rearrange the following sentences In their correct order to

form a meaningful paragraph.

A: For exotic beauty, few flowers rival the ghost orchid.

B: It's long been thought that only one insect, the giant
sphinx moth, had a long enough proboscis to pollinate these

orchids—but new images and research prove that wrong.

C: As they feed, moths rub against a pollen source and

pick up grains they’ll transfer to other orchids they visit.

D: These rare orchids have long nectar tubes into which
moths stick their tongue like proboscises to reach a sugary

reward.

Options:

1. v ADCB
2. = ACBD
3. = ABDC
4. = ACDB

Question Number : 140 Question Id : 54592730440 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



A sentence has four parts, rearrange the given parts so as to
form a meaningful sentence.

A: oversees groundwater extraction has just six employees,
B: enforce the law in this sprawling city.
C: In Bangalore, the governmental department that

D: and thus no earthly way to monitor and

Options:

1. « CDAB
2. v CADB
3. = CBDA
4. = CDBA

Question Number : 140 Question Id : 54592730440 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

A sentence has four parts, rearrange the given parts so as

to form a meaningful sentence.

A: oversees groundwater extraction has just six employees,

B: enforce the law In this sprawling city.

C: In Bangalore, the governmental department that

D: and thus no earthly way to monitor and



Options:

1. = CDAB
2. v CADB
3. = CBDA
4. = CDBA

Group Number :
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Group Maximum Duration :
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Show Attended Group?:
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Group Marks:
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Question Number : 141 Question Id : 54592730441 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



A sentence has four parts, rearrange the given parts so as to
form a meaningful sentence.

A: 1s full of sounds: birds chirping, wind rustling through
trees,

B: the ears of both predator and prey are attuned to one
anocther’s presernce.

C: and insects humming about their business.

D: Even on the quietest days, the world.

Options:

1. = DABC
2. » DBCA
3. v DACB
4. = DCBA

Question Number : 141 Question Id : 54592730441 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



A sentence has four parts, rearrange the given parts so as

to form a meaningful sentence.

A: 1s full of sounds: birds chirping, wind rustling through

trees,

B: the ears of both predator and prey are attuned to one

another’s presence.

C: and insects humming about their business.

D: Even on the quietest days, the world.

Options:

1. = DABC
2. = DBCA
3. v DACB
4. « DCBA

Question Number : 142 Question Id : 54592730442 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the synonym of the given word.

Erroneous

Options:

1. v Mistaken
2. * [Jncommon
3. = Accurate



4. = Misfortune

Question Number : 142 Question Id : 54592730442 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the synonym of the given word.

Erroneous

Options:

1. v Mistaken
2. = Uncommon
3. = Accurate

4. = Misfortune

Question Number : 143 Question 1d : 54592730443 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the antonym of the given word.

Extravagant

Options:

1. = Reckless
2. v Reasonable
3. = Credible
4. = Endearing

Question Number : 143 Question Id : 54592730443 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the antonym of the given word.

Extravagant

Options:



1. = Reckless
2. v Reasonable
3. = Credible

4. = Endearing

Question Number : 144 Question Id : 54592730444 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the synonym of the given word.

Hideous

Options:

1. » Improper
2. = Articulate
3. v Unpleasant
4. = Sorrowful

Question Number : 144 Question Id : 54592730444 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0.25

Select the synonym of the given word.

Hideous

Options:

1. = Improper
2. » Articulate
3. v Unpleasant

4. = Sorrowful

Question Number : 145 Question 1d : 54592730445 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Select the antonym of the given word.

Sophisticated

Options:

1. v Unrefined
2. » Cynical

3. = Cultivated
4. = Lukewarm

Question Number : 145 Question Id : 54592730445 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the antonym of the given word.

Sophisticated

Options:

1. v Unrefined
2. = Cynical

3. # Cultivated
4.

* Lukewarm

Question Number : 146 Question Id : 54592730446 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the synonym of the given word.

Venerable

Options:

1. = Conventional
2. v Celebrated
3. = Primitive



4, = Dependable

Question Number : 146 Question Id : 54592730446 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the synonym of the given word.

Venerable

Options:

1. = Conventional
2. v Celebrated
3. = Primitive

4, = Dependable

Question Number : 147 Question 1d : 54592730447 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the wrongly spelt word.

Options:

1. v Zeallous

2. = Imagination
3. = Beginning
4. = Increment

Question Number : 147 Question Id : 54592730447 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the wrongly spelt word.

Options:

1. v Zeallous
2. * Imagination

3. = Beginning



4. = |ncrement

Question Number : 148 Question Id : 54592730448 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the wrongly spelt word.

Options:

1. = Admonish
2. v Dileberate
3. » Pathology
4. = Callous

Question Number : 148 Question Id : 54592730448 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the wrongly spelt word.

Options:

1. = Admonish
2. v Dileberate
3. = Pathology

4. = Callous

Question Number : 149 Question Id : 54592730449 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the wrongly spelt word.

Options:

1. » Salutation
2. » Chronicle
3. v Jubilliant
4. = Demean

Question Number : 149 Question Id : 54592730449 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the wrongly spelt word.



Options:

1. = Salutation

2. = Chronicle
3. v Jubilliant

4. = Demean

Question Number : 150 Question Id : 54592730450 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the meaning of the given idiom.

Miss the boat

Options:

1. v To lose the opportunity

2. = Fail to board the train

3. = To lose something valuable
4. = To arrive late

Question Number : 150 Question Id : 54592730450 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the meaning of the given idiom.

Miss the boat

Options:

1. v To lose the opportunity
2. = Fail to board the train
3. » To lose something valuable

4. = To arrive late

Question Number : 151 Question Id : 54592730451 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Select the meaning of the given idiom.

Pull yourself together

Options:

1. v To calm oneself down

2. = To loosen the hold

3. » To recollect past memories
4. = To refuse to agree

Question Number : 151 Question Id : 54592730451 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the meaning of the given idiom.

Pull yourself together

Options:

1. v To calm oneself down

2. = To loosen the hold

3. = To recollect past memories
4.

= To refuse to agree

Question Number : 152 Question Id : 54592730452 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the meaning of the given idiom.

Back to square one

Options:

1. = To restart a failing business
2. = To return favor
3. v Back to the very first stage



4. = To design something new

Question Number : 152 Question Id : 54592730452 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the meaning of the given idiom.

Back to square one

Options:

1. = To restart a falling business
2. = To return favor
3. v Back to the very first stage

4, = To design something new

Question Number : 153 Question 1d : 54592730453 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the word which means the same as the group of words
given.

The practice or art of choosing, cooking, and eating good food.

Options:

1. v Gastronomy
2. » Horticulture
3. » Hydrophobia
4. = Idolatry

Question Number : 153 Question 1d : 54592730453 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Select the word which means the same as the group of

words given.

The practice or art of choosing, cooking, and eating good
food.

Options:

1. v Gastronomy
2. #» Horticulture
3. * Hydrophobia
4. = l|dolatry

Question Number : 154 Question Id : 54592730454 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the word which means the same as the group of words
given.

Relating to or affecting cattle.

Options:

1. = Canine
2. v Bovine
3. = Feline
4. = Leonine

Question Number : 154 Question Id : 54592730454 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Select the word which means the same as the group of

words given.

Relating to or affecting cattle.

Options:

1. = Canine
2. v Bovine
3. = Feline

4. = |Leonine

Question Number : 155 Question Id : 54592730455 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the word which means the same as the group of words
given.

A passage between rows of seats in a building such as a
church or theatre, an aircraft, or train.

Options:

1. » Acronym
2. = Alilmony
3. v Aisle

4. = Antidote

Question Number : 155 Question Id : 54592730455 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Select the word which means the same as the group of

words given.

A passage between rows of seats in a building such as a

church or theatre, an aircraft, or train.

Options:

1. = Acronym

2. % Alimony

3. v Aisle

4. = Antidote
Sub-Section Number: 2
Sub-Section Id: 5459271809
Question Shuffling Allowed : Yes

Question Id : 54592730456 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (156 to 160)

QQuestion Label : Comprehension



Answer the questions based on the following passage:

Almost every one grows up in the world which is flooded
with the mass media e.g. television, advertising, films, videos,
billboards, magazines, movies, music, newspaper, and
internet. Of all marketing weapons, advertising is renowned
for its long lasting impact on viewer’s mind, as its exposure is
much broader. Advertising is a subset of promotion mix
which is one of the 4P’s in the marketing mix i.e. product,
price, place and promotion. As a promotional strategy,
advertising serves as a major tool in creating product
awareness in the mind of a potential consumer to take
eventual purchase decision. Advertising, sales promotion and
public relations are mass-communication tools available to
marketers. Advertising through all mediums influence
audiences, but television is one of the strongest medium of
advertising and due to its mass reach; it can influence not
only the individual’s attitude, behaviour, life style, exposure
and in the long run, even the culture of the country.

The major aim of advertising is to impact on buying
behaviour; however, this impact about brand is changed or
strengthened frequently in people’s memories. Memories
about the brand consist of those associations that are related
to brand name in consumer mind. These brand cognition
influence consideration, evaluation, and finally purchases.
The principal aim of consumer behaviour analysis is to
explain why consumers act in particular ways under certain
circumstances. It tries to determine the factors that influence
consumer behaviour, especially the economic, social and
psychological aspects. When young people choose advertising
information and characters as their role models, they may
not only identify with them but also intend to copy them in
terms of how they dress and what they are going to buy.

In today’s dynamic world, it is almost impossible for
advertisers to deliver advertising message and information to
buyers without use of advertising. Certainly, this may be
because of the globalization and accessibility of hundreds of
channels for the viewers of this modern era. Now a days, due
to globalized economy, this made available a bulk of
marketing stimuli to the modern consumers. More often
consumerism describes the way of equating personal
happiness, with purchasing material possessions and
consumption in excess of one’s need.



Sub questions

Question Number : 156 Question Id : 54592730457 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

As a subset of marketing mix, advertising is associated with
one of the following:

Options:

1. = Product

2. » Price

3. = Place

4. v Promotion

Question Number : 157 Question Id : 54592730458 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

The mass commurnication tools available to the marketers
doesn’t include:

Options:

1. = Advertising

2. v Television

3. = Sales Promotion
4. = Public Relations

Question Number : 158 Question Id : 54592730459 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which of the following points has not been discussed in the
passage?

Options:

1. = Marketing Mix

2. = Impact of advertising on buying behavior
3. v Competitive factors in the market

4. = Factors influencing consumer behavior

Question Number : 159 Question 1d : 54592730460 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Consumerism 1s defined in the passage as:

Options:
1. = Consumerism is a negative outcome of a globalized
economy.

2. % Consumerism is an influence on consumer’s attitude and
behavior.

3. = It is one of the factors in marketing mix.
4. v Equating personal happiness with material possessions.

Question Number : 160 Question Id : 54592730461 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

From among the given options, choose the one which is most
nearly the same as the word “Cognition’ as used in the 2nd
paragraph, 3rd line:

Options:

1. v Perception
2. » Interference
3. = Distinction
4. = Influence

Question Id : 54592730456 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (156 to 160)

Question Label : Comprehension



